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Biological effects of the ionizing radiation 
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��!�����(  !�!��� *�� '!

�� '*
��� )��1�� ����

"�/ .
�
� 	
�
�
� �����
� �$ �������� ��
%��  ��2 3�$ 
"�4
� 5����/

������ ��!� )� '*
��� 	
��!���2�/�!���� ��6��� 	
 � �$� �
"�7   ���
 ��2 	
�
�
�� 8(, 9���� 9�
��
�� )��1��
� ����
��� 	
��!����� 8(, ����

'!

�� !�- ���!�� ��� )��1��� )
� )2� ������� .  	
���!������ �����
��
 �$ )!��� 	�
��� ��!� )� 
�2 '*
��� ��2 
"�4
� 5����/ �� !��-  )!��

 '*
��� 	�!( :�� ���  	
���!������ ;
+��� ��!� )� �$)  ��+
<
��!�!��� .( =���$   ����� ���� >���� ����� 	
�?
��� �
��$ ���� )

    ���2 5����� 	
���!������ �4
� )@/ )���!*�"�� )� �*� ���
� :��� 
 )���!*�"��)	
����!���(� ����� 9/ )�1��� ������ '!�<%� 8(, ���� �� .

 ;��� 9��� 	
��!������ 
�$/9 :��   ���2 
,!�*� >*��/ ����� 	�!(
 )����:��    )��1��� 
,!�*�� >*�� 9��� 
�
� 	
�
�
A2 �6���� '*�*�
 	�!( 	
?�0� �$����� . )2� �������� �
��B� 	
��!������ 9���� C�(�

'!

�� !�- ���!�� ��� )��1��� )
�.  

��
��� �����  

D  ��*��–  *����� 5�<* ��F��� )
���� ��������/
 ��
���–  ����� ���<��–   ��� 	
�
�
�� 	6�
F�
 ���<��–  	
�
�
G� ����(�� 	�!��1���–   	�!��1����

 	
�
�
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         �$ 9�!
�< !*+� )� '!*
+ ������� 	
�
�
�� 	�
� H����
� )� ����� 9�<�*�� =����(internal contamination)   ���
��� *����
�

�� 	�!��1� ��2 >*�� 
"�@/� !"I� )$ )��� 9��� )?
��� ��� 9/  �����
  *�� 
��/���  ��������2 J�!�$ 5�
(clinical symptoms) .  *������

����0�� '!�F��� J�!�%� 8(, '!��< ��06��    ����� ���� 
,!�"I�
 	
�
�
��
"+
+��� 5*�� ���� �+�����.  

  
   ��������� 	�!��1��� �������   ���2 ����� 	
�?
��� 9/ 	
�
�
G�

)���� .  �����(�� 	�!��1��
� K!�� 5�%�(somatic)    	�!��1���� 9�,�
 9/ ���
��� LF� ���9��� )?
���  	
�
��
G� J!�� >(�� .  9�
�����


��� 	�!��1��� 9,� ����!��� 	�!��1��
� K!���   )?
���� ���!( 9�/ ��� 
)8*
F�$ �$ M?
��$(  9�
�
�� K���� ������
7�BH   �����
����  ;<�
��

J!�����.  
  
5 �2    ��
��� ������ ���� ������ �
 �!� ������� "  

 )
���� ��������/ �/!�� )2) >$ )
���� ��� H
7�$ K?
I�
�F��<��� M�0"�$� (
7�% ��
��� *����� 5�+� �!� �"F� ��!�!7 H

M�<�* 
"�0��� ����� .
������   H
�7�$ '*� )� )
���� ��� )����
����� �F�I�� 
"�� 5� ���� '0"�$� .  ���F�� �"F� ��06�� '0"�%� �,$�

>!�*�� 0
"��� 9, ����� 9/ ��
��� *����� N0��   O�7 )� 5������
��*�� ��0��� 9�F���� 0
"����  *�0��� )� 5����������%
�)  ;�<����

� )��H
��� !
<�� )��!��� *���$ 9�
� 5�� 	�0
 �  9��7"�� 0
"���� 
H�( �� ;
+���� �7, )� 5������.  

  
5�2�1   #����� $
%���      The circulatory system   

            )�� �*��� 
"�6< 5���� P��
�%� )� ��� � '!�* )� '!
�� �,
2 H�0�%� 8(, )� *��� �� ����� H�0�$ ���� ��2 P����P���� ���  >(��

�/*� *������ !�- �*�� ��2 )��?!��      *����$ 9�
�� )�� ;�<��� =��
�)����%
� *�0��� )��!��� *��� �� )����%
� *�0��� �*��   P����� ��2
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���
� '!� ����� H
7�$� H�0�$ �/
� ��� M�0��� .  )�� '!
�� P�����
)��<7� .�/*� :!���� �<7��� ���� �*�� � )����%
� 5�����  H�(� ��

 )���!
�� 56<(arteries) ����� ����$ ���� ��2 . 9/ �*�� !�!� *���
 ��2 H�( ��� )����%� 
"�6< 5���� 5*
�� ����� =*�� ����*�� 	�!��
��


�6<���   ���2 
�6<�� )� )��!��� *���$ 9�
�� 	67F�� 5���� )�� 9/
�*�� .P���� ��2 '*!�%� 9/ �*�� *��� �� .<7��� 
�$� P���� )� ������ �

  *����$ 9�
� *!�� =�� )��?!�� ��2 >�?!�� )
�!
�� 56< �*�� O7�/
�� )��!���1�    ���2 ����?!�� '*!�%� 56�< *�*� )� *��� �� �*�� *��

P����.   
  

         9���� ��� ����� 5�
� )
���� ��� >�����5  �*�� )� 	�!��
��*4* 9���� 5� '!� ����� 9/ ������ 8(, !���� .   )�� �*��� )�����


�6<�� )� N���$ ��6��  H�!���� 
�6<�� 9,(erythrocytes)  � 
�6<���
 H
��7����(lymphocytes + granulocytes) �  ������*�� Q?
F��+���

(thrombocytes)  ���5� ��� 
�6<�� 8(, )� ������  ������ �F�I�� .
� H�( ��� )����%� 5��� H�!���� 
�6<�� ����/�(��� )   
��6< 
��"�
��

 �����%�� H
7�%� �/
� ��2���� .   ����
"�� H
�7���� 
�6<�� �����
	
��!������ (�C�  9"/��
��� !���� 
,*7 N
/*�� ����� .  Q?
F�+�� 
�$�

    ����� R�!�� >$ =�*�� *�� ����*�� ������ )���� 
"��"�/ ����*��
 =�*�K�0���.  

  
5�2�2     & ����� $
%���The respiratory system   

            )���!��� *����$ 9�
�� )� ;�<��� 9/ LF���� ����� ;<���
�06�� )����%� ��� 5�+���� H
��� !
<��     ���( �� H�(� �� �!���


�6<�� . "��!���
 9/ �*�� !�!� *�� )��?!�� 9/ ������� 8(, =*���� 

   ���?��"�� 	6�+����� )�� ���!��� 	�!��
�� 9/ 5*
���� ����� ���/ .

 9���� ��2 S�
��� )
���� T
����20    ������ 9�/ H��"�� )� 
���� �!��
���
���� 5���� 	
�
� 56< 
��!�� 
"F+� C�"���.  

  
        '!��� ���!- *��� )
���� �
���� LF���� ����� H
��$�� 9/ )��

!
�- 5�
 9/ �$ ��0
- ��
� H��"�� 9/ ��
� . 9/ *����� 8(, 	�
� �(@/
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��0
- ��
�  P�� '!� + �$ '!��� P��� �*�� ��2 H��"�� �� !�� 
"�@/
�*�� 9/ 
"�
��( ��!� .M�@/ !
�- 5�
 9/ *����� 8(, 	�
� �(2�   )����

)$ �)��?!�� 9/ 
"�� H0� P�!�� �� !<U� H0��� T!<�� H��,  !�/0��
 �$ )$9�F���� 0
"��� )� >����� H0��� 9/ �����  �� 
"��� ��� 9�
��
��

�
���� .  
�"�
��( ��!� ��� )��?!�� 9/ ���!���� *����� C��� *�����
 ��!��� ;��� 
"�@/ )
��(�� ���!� 	�
� �(@/ �)>$    	
�
�� 56�<

'*�*�� (���>! �*�� �� .$�  9�/ ���� 
"�@/ )
��(�� �?��� 	�
� �(2 
�
!�"
 '*� ��2 5+� *4 ����� '*�� )��?!�� .C�(���   0
�"��� )$ Q7��

 !���� 9�F���� ���
��� *����� 5�<*� ���?!�� 5<�*��� *�$  ������   ���
�F��<��� ����� H
7�$ ��2 M��� �*�� 
"�
����.  

  
5�2�3    &�'%�� $
%���       The digestive system  

        )� 9�7"�� 0
"��� )����  )�� 
,!�*� ������� ���7"�� '
���� 
!���� �������H> �� '*��������� �� H
��%�� !
� �I�� �� H
��%�� ���4* 


"�
����� . ��2 ��7
"�� 	
��0��� 5�F� 0
"��� �(, 9/ H�( �� 5�����
   ������ 
��6< ���2 M��� �*�� ��2 M+
+��3 ���
��� ����� !�+� 

 '*
�2� ����� �06�� H�( ��� ��!��6� ��06�� �4
��� ��� C�(� 5+��/

�6<�� H
�� .�� ;��� �� >(�� H�( �� 
�$�  ������� 
�6<��� 
�!����� C�(

 ���+ 	67/ 5�
 9/ 
���� T!<�/ H
��%� 
"IF�� 9���)0�!� .( 
�$�
�(�� R6�%�� 	67F�� 9,� ��?
��� 	67F���?  )����� 9��� H
��� 9/ �

   )�������� ���!� )� 
"��!<2 ���/ ���<�� 5<�*(kidneys)   C�
������
�������.  

  
       �
��� *����� ��� *��� !�� �
���� �� !�� �'
���� ��7"��� . �(@/

P�(� >(�� N���� )� *����� 8(, 	�
� �$ H
��� 9/    	
���0��� 5��F�
�*�� ��2 5+�� H�( �� �� ;��� 
"�@/ �F��<����    ���� 
�"�0�� >(��

����� H�0�$ ����. 0�!�� )$ )���� ��
��� *�����   ������ H
7�$ 9/
)� �����. !�� 5
���� 5��� ���/ ���0���� 0�137   �����%� 9/ �
���

 ���
��!���� 0�!�� )�� 9/ '�<!��90 �
I��� 9/.   !��- *����� 
�$�
)
��(�� ���
��� 	
��0�%� �$ H
��� 9/ �� 9�7"�� 0
"��� !�� !�� 
"�@/M 



  177

���
�� ����� )N
�
G� M7�!�� >$(    M��/ 
�,!�!� H
��$ 0
"��� �(,
H
��%� �+
<�.  

  
5 �3  (�� ��)�����      The cell   

K!�� ���4* 	�*�� )� ����� 	
�?
��� H
7�$ ���� )����  5�

"�� '*�� ��<�
�� .  
�"� ������ 5?
���� '����� 9, ���<�� 	
���� �,$�

 �06������� ��
� K�!�����(cytoplasm)  ���<�� !�*��) 5�
5D1 .(
 ��
��� �06������� !�����"  ��+���" ���<��� �� )�� 9/ ��� '����� >��


,!�
��� 
"�F�I�� ���<�� �
��� ��06�� 	
������� ����  ��� �I/
�����

"+?
+< .   �4
� ���2 M��+� >(�� H�( �� 5����� ���� �06������
/� 

'!� + 	
?�0�� . 	
?�0� ��2 *�� 
��/ '!� +�� 	
?�0��� 8(, 5�����
�*���� 	
����� ���<�� 
"�
��� 9��� 9,� �*���� !��$ �
����3�� * .  
��$

   	
�������!��� ���� >����/ '�����(chromosomes)    !����� 9����
 	
����� )� ����� ������ P���!�(genes)  .   )
����� ����< >�����

 9���� ���46 
������!� .   9�����* J�
�� )� 	
����� )�����
 C���������!d-oxyribonucleic acid ( DRA )  � ������!� 	
?�0� )��

����5 	
����� 8(, ����!��� 	
F+�� 5��� 9��� 	
������� ����.  
  
  

                                                                                  4 

                                                                       

                                                                                  3 

                                                         2 

                                                                               

                                                                                       1 

 

 

  
  

 5�
)5 D1( :���<��  
    1D                 ���<�� !�*�2D �06�������  
    3D                 '����� !�*�4D *�����  
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���  	���� 
� J����� N���� ��� �I/
���� !�
���
� 
�6<�� ��


"�� .���<�� !�� R��!���  )   9�/ 
�,!�
�� �$ 
"�
���� 5*�� 9�
��
��
 )
���� (	
�
� '*� )��    ����<�� N��� P��� C�(� 	���� '*��. 

 9���6�� !�
���� 9, ���%� )����!�� '*
� !�
���� =*���(mitosois) 
 9����� !�
���� 9, :!<%��(meiosis) . 9/ 9���6�� !�
���� =*���

 ����� �� 
���� 	
������!��� **� K�
7�� =�� ��*
��� ����� 
�6<
�

�� )����< ��2 ���+%� ���<�� 
�
�� )��" )��"�

�� ����+%� ���<�� .

  K!��� 
�6<�� )� N�� )�� =*�� ;
< N�� �"/ 9����� !�
���� 
�$
>����� )������ 9,� 9����� !�
���� 
�6< ��
� !�(�� 9/  9/ �7������

���%� .    '
��� '!�* 56�< '*���� '!� !�
���� )� N���� �(, =*���
���<�� .>����� )������ 946� *��/      ������� )�*���� ��7����� ���

 	
����� ��� >���� '*�*� ���< C�(� )����� 
�"�
������!� ) *�����
 ����!��� (��+<��� �7����� C�(� )����� )�*����� 6� )�.  

  
5 �4   	
�
�
!� ��
�� ������� ��)��� +�  

Interaction of the ionizing radiation with the cell 

	
�
�
�� ���� *��   )�1�� ��2 >*�� 
"�@/ ���<�� ��� �������
H
��� 	
?�0� 
+�+<� 
"�
���� J���   9�/ !��%� H0��� 5��� >(��

�$� ��� ���< .��?
���� 	�!� � =�*� ��2 H
��� )�1� >*��� *4   >*���
���<�� �F�I� 9/ 	�!� � =�*�2 ��2 
,!�*� . 8(, X?
�� !"I� )$ )����

 5�
 9/ )
���� 9/ 	�!� ���   9�
��
�� J!��
�� ��������2 J�!�$
(radiation sickness)�  )���� ��*� �
��2 �$(cataract)�  ��
+�� 9/ �$

5����� :*��� ��� )
�!��
�.  
       

 K6�2 ��2 ������� 	
�
�
�� >*�� ��(�,�(damage)   ����<��
9�� 
��/ 
,0��� '*���� �F��<� 5��!� '*� 56< )�:  

  
5�4�1   �� �)(������,
�$��    The physical stage   
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         ��� ���!��� 8(,  �*� !�+4 )�0 56< ) 9����10
D16  ���
�( 

���<�� ������ �$ N
�
�� 5�<* �I�� )� . ����!��� 8(, 9/�   5�����
    ����<�
� H
���� 	
�?�0� ��2 	
�
�
�� )� )����� N���� )� �4
���

9�
��� 5�
F��� 
��� )�1��� =*���:   
Photon or particle  +  H2O                       H2O

+
   +   e 

–
 

 

 =��H2O
+ P����� H
��� )��$ �,� e

- P�
��� )�!����� �,.  
  
5�4�2     ��,
������$���� �)(����The physico-chemical stage   

      !�+4 )�0 56< ���!��� 8(, ���� ) 9����10
D6  ( =�*� *��

)�1���� 6< =*���   	
�?�0� ��� ���
���� ������� 	
���%� 5�
F� 
"�
'*�*� 	
��!� '*� 5�
F��� �(, )� X���/ :!<%� H
��� .   5���� ����/

5
�����     )���!*��, )���$ 
����� P����� H
��� )��$ 5���� )$ )���
 P���H

+ � )��$ *����!*�,OH  
��������
��� ��*
��:  

 H2O
+             

             OH  +   H
+
 

 P�
��� )�!����� 
�$e
-   5*
���� H
� H>0� �� *��� )$ )���/

P�
� H
� )��$ C�(� 
�����  >$)$:  

 e
-
  +  H2O                      H2O 

-
 

 )��$� )���!*�"�� 
���� !�<%� )��%� �(, 5���� ��
>$ P�
��� *����!*�"��  

 H2O 
-
                    H  +  OH 

-
 

�(�,�� *��)� 5� )���� ��2 	6�
F��� 8(, >  )���!*�"�� )��$
P����� H

+  P�
���� *����!*�"�� )��$� � OH
-   )���!*��"�� '!(� �

��*
����� H   ��5*
����� *����!*�"�� H>0� OH . )���!*�"�� 	
���$�
H

+  *����!*�"���OH
- C!�
� 3� H
��� 9/ 
�?�* '*������
����   9�/

���
� 	6�
F� =�*�2 .$ :!<%� X������ �����
� 
�� )���!*�"�� 9,H � 
 *����!*�"���OH  ��*
�����  *�*�
�� 9?
������� 
"�

�� �/�!�� 9"/ .

C�(��  !���� >(�� )���!*�"�� *���$ ��/ �, !<Y X�
� )���� )$ )���
9�
��� 5�
F��� 
��� C�(� 
��4 �*���� 6�
�:  
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 OH  +  OH                      H2O2 

   
5�4�3   ��,
������ �)(����  The chemical stage   

           )��� '*� ���!��� 8(, �! ���  ����
���� ���!��� *��   �����
9,� ���
��� ���!��� X���� 5�
F� 
"�6< '!(  )���!*�"��H �  H>0��

 *����!*�"��OH    )���!*��"�� *����$ ��/�H2O2    	
�?�0��� ���
���<�� 9/ �F��<��� ���7��� .6��/�    ��� X������� 8(, 5�
F�� )$ )���

 >*�� �$ 
"�� *���/ 	
������!��� 
"�� )���� 9��� '*����� 	
?�0���
�� 
"����!� !���� ��2��� ������� ������ )$ )���=*��9�
��
� �   J���
	
����� 9/ 	�!� ���.  

  
5�4�4  ���������� �)(����    The biological stage  

           R��!��  	�!
� '*�� �?
4* '*� )�� ���!��� 8(, )�0
	������ . !�"I ���!��� 8(, 9/ $*���	�!��1�  9��� ��?
������ 	�!� ���

���<�� 9/ 	�*� .�� 8(, J���	�!��1� 9,:  
  

$D  ���<�� 	��.  
PD  
"�
���� 5*�� '*
�0 �$ ���<�� �
���� !<1� �$ ���. 

TD  5���� ���<�� 9/ ���*��� 	�!� � =�*� 
'*����� 
�6<�� ��2 
���!�.  

  
�(�,��  ���
� ����� 	
�?
���� )
���� ��� N
�
�� 	�!��1� )@/


�6<�� K6�2 )� .9/ 	�!��1��� 8(, ����� )$ )���� LF�    ;<�
��
M���� ��*
��� 
�6<�� K6�2 ����� N
�
G� J!�����.    8(�, K!����

	�!��1���� (?*���  ����(�
�(somatic effects)  .C�(��   5����� )$ )���
J!����� ;<
�� ���
��� 5
��%� �$ H
��%� ��2 	�!��1��� 8(,�  K!���

	�!��1���� (?*���  ����!��
�(hereditary effects)  . 	�!��1��� 8(, X����
  ����
���� H
�7�%� 
�6< K6�2 )� ����!����    J!������ ;<�
��

������� 	
�
�
G�.  
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5 �5 ��(�� 	�������� ������� 	
�
�
�� ��,��
���� ��  

The deterministic and stochastic effects 

5 �5 �1   	
�
�
�� ����(�� 	��������  The deterministic effects  

              
��6<�� **��� >!
��� ����� ����$� H�0�$ �I�� 9/ ���
������ ���� ���� 
�6<�� J�� 	��� =��'*�*� 
�6< )����� 
"7��� 

������� MF?
I�� ���� )$ �7��� �$ X����� ������ ��� .  J!��� *���
   )�� !���� **� 	��� N
�
�� )� ���
� 	
�!�� H
7�%�� ����%�

8
�6<�    **���� J������� '*�*��� 
�6<�� H
�� '*
�2 ����� ������ 3�
!����� 8
�6< )� *��F����  ;�� =*�� 9�
��
��  ��7��� 
�6< 9/ !���

X����� �$� MF?
I�� X����� �$ �7��� *�/ ��2 >*�� >(�� !�%� . )
� �(@/
    )���� )?
���� '
��� !�!���3 ������� H�0�%� )� �7��� �$ X�����

)?
��� �("� ������� ������� �, 	����.  
  

          
������  **� K�0���� ����� N
�
G� ������� 	�!��1��� X���
����%� �$ H
7�%� 
�6< )� !��� .     8(�, =�*�� 5
����� )�����

*�� 
��*�� 	�!��1���   
�*��� 
��� =*�� 
"�$ 32 ��7F<���� 	
�!���
 *� ��2 J!���� ��!� 5+�) ����� �$ ( )���� .   )$ 5����� )�����

  3� �!��1�� 5�� **���� *��� 0�
�� *�� 32 =*�� 3 ������� 	�!��1���
�� 32 C�( =*��* �*� ���
� 	
�!� . 9/ ���
�
�� 	
�!��� >*���

H
��B� )����� !�*��� 
�6<� 9
�� K�0���� ��2 ������� 8(,�   =���
��
��� 
�!����� M��
"�/ 5�

 K�� M�/ =*�� . (���C�    8(�, K!���

    �������� 	
��
"��3� )�� ���
��� '
/��� ������ 	
�!��� )� �������
(gastrointestinal death).  

  
     J!���� ���
� K�!���� J!��� ������� 	�!��1��� ����$ )��

    8
����� ���
� K�!����� J!��� �,� )���� ��*� �
��2� �9�
�
��
 	��!���� �$ H
7����(cataract)   
�����!��� �(erythema)   !�!���� �$


,!�-� �*����.  
  

 &����� #$����� $
%��� -)�(CNS)   
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����� /
� 	
�
�� *��� 3)
���� )� ��  ��!��� *� 5��) �$
������ ( >0��!��� 9�+��� 0
"��� K�� 
,*�� $*�� 9���. )$ 32   X?
�����

 ����!�������  	
�������$  J��� =�*� ��� 5*� J�!�$ !�"I 	��
>0�!��� 9�+��� 0
"��� 9/ K���� �*� ���
� 	
�!� *�� C�(� �) '*�

>�! �� )� 	�!
�( .(� �C������� 8(, ����	
�!��� )� � ) *�0� 9���
 9���� ���30 >�!-(  >0�!��� 9�+��� 0
"��� ������(CNS).  ���

��� 3 '
/��� )$ 	�� *�/ C�( 	
�!��� 8(, )� 5
��� 9/�  �����
� ���
�� 	7!�� 9��� 	
�������
  ��� *�0�500 >�!-.  

  

�����!�    Erythema  

        J!���� *!��� !"I� !<Y !��1� C
�, 	
�!��� 
����� ���
��� .
 
����!�� ��
� !��1��� �(, K!���(erythema)�  !�!��� )� '!
�� �,�

*���� .  9�/ !<Y X��� >$ )� !��$ 	
�
�
G� J!���� J!�� *�����
    ��7F<���� ��4
��� 	�( �������� 	
�
�
G� �����
� 
+�+< �����

 	
��!���G�� )   '!� �+ ��!��<3� ��� 
"�!*4 )% .( (����C   )@�/
 9���� 
,!�*�� ��!�� J!����3  �4
��� 	�( ������� ��
%� )� >�!-

��2 >*�� �7F<���� J!� =�*�2 
����!�� . )��� ��!��� '*
�0 *���

,!�-� 	
������� ��!��
� :!<$ J�!�$ !"I� )$.  

  
         	
���� )� ���
��� ���
�
�� P��
���� )$ ��2 '!

�� !*���

������� �4
���  	
�
�
G� ������ �$ ���
�+�� 	
������� 5?
�� )� �$
)���
��� 
"� J!��� 9���  ��*
��� K�!I�� 9/)    K�!�I 9�/ L����

=*�����(  '!��<�� ���
�
�� P��
���� C�� )� !���� 54$ '*
� )��� �
N
�
�� )� ��
4��� 	
������ ��0��3� �� 
��
� .  5��+��� )��� )���

��� '!�<�� ��!��� ���=*
� N�4� �� �$ 9�
�
2  >���)�����  !�F�
�$ M�!* T!
< 6�� �
��� !*+��� ��
+ 5�<*     
����� 6��� 5�
F�

!��� C�( !�-� ����F� M����4 :*�2 )��� .(  	
��!��� )@/ C�( ���
 )��� >*
��� 5� 
��� 	
���� H
��$ )���
��� 
"��� 5+�� 9��� '!� +��

 ��2 >*�� )$	�!��1� '!
7�  )���*����� :*��� ����   K!��� 
� �(,�
'!<1���� 	�!��1��
�.  
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 5�6�2    *������� 	��������    The late effects  

           �� )�(�� �7!��� �$ ��
%� 9��/ )$ 
����� )U� Q�+$
 )�7!�� 
���� ���
� ���
�
2 	
�!�� �"7�!�$ ;�<
� �$ �"�6�

)
�!��� N���$ J��� ��
+G�� )� !��$  J!��� �� )�� �,!�-
	
�
�
G� . ���*��� 	
��!*�� 	*$ *���� ��� 9��� ��!
��� 	
������

��!(�� 5�
���� )� ���
��� 	
�
�
G� 	7!��  ������� =*����� )� �$
�5���!
� =*
� 5�� ������� 	
�
�
�
� �"�6� �� )�(�� �7!��� �$� 

�����!���� ��
�� 5
�� �$�
�
� )���
��� �$ � '0"�1� ������� 	
�

�������� 	6�
F��� 	6������  ������� ��
%�  '!*4 *��1� ��2

�
�!��� )���� ��� 	
�
�
���������� 	
.  
  

           K�
7� )� '!
�� �, )
�!����) !�
�� ( �7��� 9/ 
�6<��
9������ 5*���� ��/ 5*��� )����� . K�� )� X�
� M�$ J���� *�����

����� 0
"����<�� 9/ ��  5*���� )� N!�$ 5*��� 
"�
���� ��2 >*�� 
��
9������ . 5*���
� 
,!�*� �����/ 
"�F� �F+�� '*����� 
�6<�� 5����

M�F� ��!����  ����%
� !7� 9�
�!� X��� )���� ��2 >*�� 
��
)����� �7��� 9/ ��*
���.  

  
        )
�!��
� ��
+�� !�"I� ��06�� '!�F�� !�*��� P��� �

 5+/ ���
��2 �*�� �!I� ��
 �� '*��� ����� �	
�
�
G� J!����
	
�
�
�� )� X�
��� )
�!��� ������� 
���( X�
��� M���� )�  )� �$

���!���� *����� J!���
� :!<$ P
��$� 5
���� 5��� ��� . )���
	!"I$ )$ 	
�?
+��� J�� �F��<��� 	
�
�!���  *4� '*� 56< !"I

� R��!�� )�5 � 30 	
�
�
G� J!���� 	4� )� ��� . �!I��
 �F�� *�/ 
,!�"I )�0� ��
+�� :*�� �������� �F��<��� 	
���+��
 )� ��!� >$ )$ ��� ���
�
�� ��
4��� !I� �"�� )� 
���
�

 	
�
�
��–  	�4 
�"�– J!��� �("� ��
+�
� 3
���� 
"�� 5���. 

� J!��
� ��
+�� !�*�� )��$ *������
��� ���
�
�� P��
���� ����� 


���� . ��!
��� 	
������� ��� ���4* ��?
+�2 	
��!* 5�� �� *�/
 ��
%� 9��/� H
��%
� 	
�
�
�� )� ���
� 	
�!�� J!��� 9���

�����!���� ��
�� 5
��� .)$ 32  ���!*�� C�� 9, �4* !��%� ���!*��
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������� )�!��F��� 
�
�7 ��� 	�!�$ 9��� 
��
�!�, )� 5� ��� )
9��0
�
�� )
�
��� 9/  �
�1945  � . ��!��� )�� �46��� ���!* �� *�/

��
+�� ���� )��� ���
�
�� ��F��<��� 	
�
�!��
�  *�� C�(�
���
��� 	
�!��� . 	
�
�� *��� 6/ �7F<���� 	
�!��� �����
� 
�$

)
���� )� ��/
� ��?
+�2 .(��C� *�*��� �*<��� *�/  )� �������
$ ������
� )����
� C�(� �7F<���� 	
�!��� ��2 ���
��� 	
�!���  ���

 5�
)5D2 .()$ 32  ���
�
�� ��
4��� ����*�� ������(ICRP)  	+�$
 9�<�� *�*��3� ��*<��
� ) 5�
�� ��� P ��������5 D2 ( )� 3*�

�7F<���� 	
�!��� *�� ��
+�� 5
���� !�*��� ������� .���� 8(, �*<
 	�( 	
�
�
G� J!���� *�� ��
+�� 5
���� !�*��� 
��
� 	
�
����

�7F<���� P��
���� .C�( ��� H
����  ��
+�� 5
���� )
� �(2 M�@/
*�� )
�!��
� )� ����� ������ J!��� 
�10000 >�
���
� ;<
 

� 
,!�*�� ��!�10 	!F�� 9���� �;<
 5��  �,;
<
$ ���<  )�
H3�, )�� ����K3Y '!
  
,!�*�� ��!� *�� M�@/100 	!F�� 9��� 
�"�� 5�� ��
+�� 5
���� Q�+� �������� )�� )
�!��
�   �,50 

+<

.  
  

                                                           5
���3�  
 

 

 

 

 

 

 

                                                      P  
 

                                                             $  
 

 

           ��!��� 
 

 5�
)5 D2(  
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��
+�� 5
����� ���
�
�� ��!��� )�� �46��� 
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              ��F��<��� ������ H
�7�$ ��
�+2 5
���� ���!* 	��0 
��
'!������ ����!��� 	��  	
�
�
�� )� X�
��� )
�!��
�.  

          
��� '*����� ��B� ������� ������ 5�� ����*�� )
���� )� **� �� �

 >!(�� N
�
�� !��1� ���!*�UNSCEAR �    �������� )
����� J���
     '*������ ��������� )
��
���� �����!�%� '*����� 	
�3��� 9/ :!<%�


,!�-��  ���!*��      P���� ��F��<��� 	
�
�!���
� ��
�+�� !�
�<
	
�
�
�� �������� ���     ������ H
�7�$ ���� 	
�
�+�� N0�� ��F

>!
���.  ��
 !*
+�� ������� �F��<� T(
�� ��*<��� ��� J! �� �("��
J!���� �F��<� �
��$� 	
������� . 5�*� )����)5D1 (  !�*��� =*�$

 5� 9/ 	����� )
�!��
� �F��<��� H
7�%� ��
+� ������� 	3
���6�
���� '*����� 	
�3���� )
�
��� )�)�+��� '*����� �����    ����*� 9�/�

���!�!��. )��� 
�� 5�*��� �(, � 	3
���3� 8("� �������� ������ !�  
  

 5�*�)5 D2(:  �F��<��� H
7�%� 9/ ������� 	
�
�!��� ������� 	3
���3�
�������� ������� 	3
���3�� 5�* L�< 9/.  

  
���*�� 
��� 9����� 5
���3�   

�7��� �����  
�3�5
�� 

  
)�+�� 

  
 �������
'*����� 

  
���!�!�� 

  
 	
�3���
'*����� 

  
)
�
��� 

0.090  
0.144  
0.27  
0.179  
0.052  
0.022  
0.067  
0.089  
0.150  
1.00 

0.269  
0.224  
0.103  
0.097  
0.022  
0.020  
0.026  
0.079  
0.150  
1.00 

0.30  
0.050  
0.225  
0.274  
0.085  
0.031  
0.091  
0.064  
0.150  
1.00 

0.098  
0.136  
0.206  
0.141  
0.048  
0.016  
0.078  
0.127  
0.150  
1.00 

0.014  
0.033  
0.320  
0.205  
0.075  
0.031  
0.076  
0.096  
0.150  
1.00 

0.038  
0.291  
0.180  
0.174  
0.023  
0.015  
0.052  
0.077  
0.150  
1.00 

9���� !
�  
'*����  

)������  
��!)��?  

!*+��  
)���+<��  

 ��
����  
9�I��� N
<���  
H
7�%� 94
�  

N������ 

  



  187

L�<�� 5�*���   !F�+ )�� R��!�� !
��% C�(�� 90  
��
��   ������
=
���� !��(�� )� 5�� ������.  

  
5�6�3   ��.
���� ��
�     The risk factor   

           H
������ �*<���� ��?���
��� 	�!��1��
� ��
+�� 5
���� ������
!�
<��� 5�
�� Q��+�. 
� ��
+�� 5
���� 5�
���� �("� *+��� J!��

'**�� ���
�
2 ��!�� J!���� *�� 9?��
��� .   J�!��B� ������
��
���
�!���� 6���  )
�!��
� *!F�� ��
+2 5
���� �, !�
<��� 5�
�� )@/

 
,!�*�� ��!�� M7!�� *��1  	!F��)100�! .(C�(��   5��
�� L
��
 '*��� !�
<���1/	!F��.  

  
        !� � *���!�*�� �� 9��� ��
�F�� ��!���  P��
��� *!F�� 
"� J!�

��!��� 8(, �� 
�*!� 
��
�� !�
<��� 5�
���    5
����� P��
��� =��
2 �� )
�!��
� M��
+!�*�� ��
�F�� ��!���  
��*!� 
��
�� .   )
�� �(@�/

+�� 5
����
 
,!�*�� ��!� *�� )
�!��
� ��1  �, 	!F��0.06 ) >$
6  (% 
,!�*�� ��!� *�� 5
���3� �(, Q�+�2  	!F��0.12 � ) >$
12  .(%��!
� ������ J!��� 
�*���  
,*�!/$ **�n   ���
�/ ��!��

 
,!�*�� ���
���E  �*!/ 5��  ����
���� ��
�F�� ��!��� ���4 Q�+�Ec 
9,:  

  EC = E n 

 �������� 8(, )�� )
�!��
� ��
+�� 5
���� *
���� ) **� >$
 �������� )�� ���
�!��� 	
�
+�� (��� �46��� �*<������
:  

  
 ��
�!� 	/
( ��� = ������ . ��� 1����)� ��
����  

× ��3333333�
��333'������× �333�
��

�.
����.  
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         5�*� )����)5D2 (��
   *��� ��F��<��� ���
�!��� !�
<��� 5�
 
,!�*�� ��
�/ ���
�
2 ��!�� J!����1   )�� )��(���� 
��� 	!F��

������� T(
��� ,�
� 9�!7�� T(������ ��� T(����  ���+�� 9����� *"�
 ����!�%� '*����� 	
�3��
�(NIH)�  !�
<��� 5�
�� X���� P!
��� =��

)��(�����.  
  

�
��:  
          J!���1000   ������ ��
�/ ��!�� 9�
�
2 !��<� 9/ 5�
�
 
,!�*��20 	!F�� 9���� . )
�!��
� P
+� 9��� 	3
��� **� P��$
�� 	�����) T(
���� 
��� �������� 8(, �F��<���� 5� )$ 	��� �(2  *���

)�  '*�� 5��� 5
���� H3�,40 
�
� ���
�
�� K�!I�� LF� 9/.  
  

 �(��:  
   5���� *������ ;<
�� 
"� J!��� 9��� ��!��� 9�
��240 


�
� 9,:   

E  =   20  (mSv/ year) x  40  years  

    =   800   mSv  

    =   0.8     Sv 

��� 5�
��� ��
+2 5
����*�� P1 9�!7�� T(����� 
��� )
�!��
� 
9,:  

 P1   =  0.8  (Sv) x 0.1  

       = 0.08    = 8 % 

��� **�
�� )�N1  �������� )�� 	����� )
�!��
� )��
+� )�(��
�, :  

 N1   =  0.08  x 1000    

        =  80  workers 

T(���� 
��� 5�
��� ��
+2 5
����  9������ ��+�� *"�� NIH 
9,:   
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 P2  = 0.8  x 0.088     

      =  0.0704  =  7.04  % 

��� **�
��)�    ��������� )��� 	����� )
�!��
� )��
+� )�(��
T(����� �("� 
��� �,:   

 N2  =  0.0704  x  1000 

        =   70.4    =  71   workers 
  

 5�*�)5D3(: ��
�!��� ��
+�� !�
<� ������   
9�!7�� T(����� 
���� �� *"���� T(����9��!�%� 9��� ��+��.  

  
5�� ��
+�� 5
���� 1 	!F��   

���*��  *"���� T(���  
��9��� ��+�� 

9�!7�� T(����� 

0.093  
0.087  
0.102  
0.097  
0.060 

0.102  
0.112  
0.095  
0.129  
0.063 

)
�
���  
'*����� 	
�3���  
���!�!��  
'*����� �������  
)�+�� 

0.088 0.100 � �����5
���3 

  
  

5�7   	
�
�
�� �������� 	��������  
The hereditary effects of radiation 

)$ ��2 '!

�� ���  	
�
�
G� ����!��� 	�!��1��� X��� K�� )�
����
���� 
�6<�� . 	�!� � ������ ��2 K���� �(, >*���–  ��
� K!��

 ����!��� 	�!� ���(genetic mutations) � '*
��� 9/���<�� ����!�� .  *�4�
     ��7����� P
�+<2 ������ =*��� !�
�� ��2 '!

�� 	���(ovum) 

 >����� )�����
�(sperm)  �   ���� ���+<��� �7����� 5+�� 9�
��
��
)�*����� 6� )� ����!��� *����� )� ���
��� ������ .C�(���   5�+��

 	
����� )� )����
��� )������� ��� 5F���(genes) ���� �4���  ���
*��� 5� )� . P�
 �� �, )��� 	
����� *�$ )$ *�� *4�)*?
��� �$ ( 9/
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�!���� !<U� )��� )�� .   	
F�+�� **��� 9��� 9, ���
 �� 	
������
��+<
�� ����!���.  

           
   	
F�+�� *��*�� 9/ !�*� ���� 6/ '!������ 	
����� 
�$�  32

����� N���� )� 	
����� )� )
��� ����� 
�*��!� .   ��I�� 	��
� 
���
'!������ 	
����� 9/ )��� J�!�%�� (�C�   
"��F� )� K
�� 3 9"/

)�*����� :*� )��� 
�*�� 32 LF�   '!������� 	
������ 8(, .  !*����
 ����(�� ����!��� 	�!� ��� )$ ��2 '!

�� ) N
�
�� !��1� )�*� >$ ( 9,

  9���� J!� �?
���<�� )� �I�%� H0��� )� ���?����   
�"�� 9�
���
��
���.  

  
5 �7  ������ �), 6  

1D  �F��<��� ����� H
7�% ��
��� *����� 5�<* 5?
�� R!
�.  
  
2D  �� R!
����!%� 5��!� ���<�� 9�
�
�� K���� =�*��.  
  
3D  	
�
�
G� ����!���� ����(�� 	�!��1��� )�� )!
4 �������.  
  
4D  _)
���� ��� 	
�
�
G� '!����� 	�!��1��� 9, 
�.  
  
5D    )�� �F��<��� 	
�!��� '!��< :*� `4
�1   ���210 

>�!� )
���� ���.  
  
6D  	�!��1��� 9, 
� '!<1���� 	
�
�
G��_    )���� K����

_	�!��1��� 8("� ��
+�� 5
����  !�*��.  
  
7D  ���
�!��� ��
+G� '!��<�� 5�
�� �, 
��_  8!�*�� 
��

_�F��<��� T(
����.  
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8D   1���� 	�!��1��� 9, 
�	
�
�
G� '!<�_    )���� K����

"� ��
+�� 5
���� !�*��_.  

  
9D     =*
�� ����� )
�!��
� ��
+�
� )�**"��� **� P���

>����  J!�� ��2 :*$600000  �4��� *!/10  9����
 �, !�
<��� 5�
�� )
� �(2 �"�� 5�� 	!F��6 x 10D2   

	!F�� 5��) .5��� :360 ����� ���
�!� ��
+2(  
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������� 	�
�� 
������ ����� �����  
Radiation survey meters and dosimeters 

  
  
  
  
  
  
6 �1  �����  

������� 	
��� 
���� �����  ������� ����    ����� ������

������� ��������     ���� ���� � ����� !"��#� �$ �����%��� �&

 
��� �����$� ������'� (���� ()*�$  �+�� 
�" � ������� ,-

 ��.��� 
����� ������ �$  �$ 
���/�� �-����� �$ 
�/�
�� 
��#� ()*�$

�-��.��� �$� 
������� 
������ ����$ 01$ � $ . 3�4�� �5*� 0�%�
��
 ������� 	
��� ()*�$ 0
�� 6��� 
��% ()*�$(radiation survey 

meters) ���� 751 ���� �$ 
������ 
������� ������� ���8�  ����
!"��#� 9�� �&.  	:
#� ���� ���� 
��% ;�%$ ()*�$ 0�%�
� ��"

������ ��� ()*�$ �*��� ,�:� <����� �& =��*�� �$. ������ <���  751
     �$ 
��)�4�� 6����"�� >���/$ �� $ 0��%�
� ��� �*��� �& ()*�#�

 ���� �1��+ �$ 
�?�������� <����� ��.�� �& �*.���   3��4� 9�5�
 !� 6�"���������� !� !����� >�/���  ��� �� @����
 ) @�8&�� �$( 

@/� 
���/�� 
����� ������  !$ !"�� ���� 
�/�)�� (��.�� ��� � ��������
!����� !�"��� �& !�
/�� �"�� �*�-%.  

  
      !�� 6��"�� �� �� )��*� 0��%��
� !"�� C @/D& �������

����� ������� 	
��� =���E� �
.��%��� ��������   �������� ����
�*/� 
���/�� ������� ����    6-�%��� 6���"�� 
���: 6-�%C 9�5�

�*����:� �*����"� �������� >�/ F�%��� 3�4�� 6-�%�� 9�5"� �
)�*��� �51 @� .���9�5     	�
��� ()�*�$ !�� 
.��%� >��/$ (�� 0�%�
�

����� 	�����  

G  
��8�– � 	
��� )�*� FI��% 01$ ������– 
 ������� 	
��� ()*�$–    
������ ����� ()*�$

 
��%���– �I�
�� 
�I
$  
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�*�C��� �$ ������� !����� �������  �$�������� ���   >��/� ����� 
 !����� !�"��� �& �*����:� �*����"� �������� .9�5"� �   (��� ����


��%��� ������� ���� �I�
� !� >��/$ )(personal dosimeters  �J�
 ��
 �� 0��.�� (���(film badge)  3����� ���� �� ���8����(TLD) 

     
������ 
��/���"��� �����8���� 
���%��� ������� ���� 0-�$�

��%��� . ��    ������� �$ ��������� <�� ������ �5�� F%��� ��

  ����� 
������� 
����� ��� � 3�4� �I�
��� 751 
����� ��������
���%� �*� 3���� .   >���/$ 3��� ��� 6������ ��.�� �51 �/���

  
���%��� ������� ����� ������� 	
��� ()*�$   ������� �����
�������.  

  
6 �2   ��� ����� ���� � ��! "#� 
���  

Characteristics of Survey Meter 

    �����:���� 3��� �������� 	
��� )�*� �& �&��� !$ K��
� :��������� �� �*�1$ !:  

  
��  $
%�&�� �'��(:  

���M )�*��� K�"�� 
:�
�     
��/�"�E� 0��%��
C� 
��*�
 ��E
   ����/��� 
���%� 
.��%��� ���/���� =�)�#� ������ 
/����� =���E

�/���"����*.�� �/� 
.  

$�  �*�&���:  

          ���  6��N�� 6��%� �& ����� )�*��� �� �� !$ K��$  @�/
(��� � ���� )�*��� 0�%�
O� ��   !�5��� F�%�#� !� ���" ��� 
:
���

()*�P� 0*����� K��
$ 6��%�.  
  

+�  �����( ,-�*� ,-�. �
*�%�/� 0���� ��!:   

       �� 0�%�
� )�*��� !# ��N/ 9�5�   ��& �������� 	
��� =��

.��%� !"��$ .9�5"�       6��.% 
��54� <��/�� )��*��� ��)�� !$ K��


&���� �����:���".  
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��   ��*�
(�� ����
��1�����:   

   !�������� (���  3��� !$ !"�� 
8����� ��+ ��/����� !E �� 
�:%��.  3�4�� �5*���
����� 
�N�/� 
.�� )�*��� (����� K��   ���

��%�
� �" ����!"�$ !E 0� �� ������ 
:
��� 9�5��  F��%�� �����
)�*���� ��  �<?�� �51 �� �������  ��& (����� 6��"�� 0��$ �����

9�5� F�%��� !�"����  )�*��� (=��� 5%M���5*� �� ������� ������� 
 �51 0��%�
�� 
8��
�� =��8�� 
8��:� !�"� �� � �./�� ������������.  

  

2#  �
���.��  

         K��   !������ >�/�� 
�
�
 �� !� 
���� 
���� )�*��� )���� !$
�������� !�� �*/� (��4��� ����"�� !� 6�"�� 
�/�"�� 9�5�.  

  
6 �3   
������ ����� �����    The survey meters 

 �������� 	
��� )�*� !�"���  �������    (���� 6���" !��
�� ���8� )�*�� �*��� �$ ������ ���"�� 
�/���"�E(  �������  �I����*"�� 

!�)�� (� � �& 
��*��� ��?�/�� ��� �$ �������� !� Q��/��.  ��)��
  ()*�#� 751 3��)�?�/�� 0�N/��� ���� ���� (  ����� ���� )�*��

@�& 
?�/ ���
� 0� ���" �����  ;��
��� (���) ��E @�/��� !"�� ��������
����� �������� ��� ��E �N/�� ��E 
�� �� !���  ���� !�� )�*��� (=

�%R� .  �������� 	�
��� 3��+# 
.��%� 6���" 0�%�
���   ��1�
   �+ ������� �$ 
���
�/��� �������� �$ !�S��� 6�+���4�G   �$ ������


�?����� 6���"�� .   ���� @��.������ 0�%�
��� 6��"�� 0�  ������
�*� 	
��� =���E� �*/� 6�"�� K��:��� �������� >�/   
�&�J" ����

�������8�� <?%� �5�� ������� ��.  
  

       0��%�
� �?.� ���� ������E� 
�/�
�� ������'� 
�
/���&  )�*�
!� (���� 6��"� &�+
 !�S���    ;��%#� 6����"�� 3��� !S� ���� �

�������� 751 <� �����
-� 
 ��� .    6��"�� 
��
/��� ���$� �� !
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 � ����� 0��%�
� �?.��� !� @/D& �.�$� ���� ����
�   ����� �$ ���
�/
�4��+. � !�  �&� !"��%�
� 
8��� 
8�:� (��)��� !�S��� 
&�+ !� �$ 0

    ������ ������& ����J )�4� ��)��� ��
�/��� ������ �$ ����� !�(BF3) 

���� �� ��/�����/�� !� 6�"�� .9�5"�    
���
�/��� ��������� 0�%�
�

 ������ �J� !������*��� 
�/+ (���� (��)����E!���J� 9�5�  !�� 6�"�� 
�
���
�� ��/�����/��  0��:�� �/� (����� 751 !� !������� ,�:/� �� 

@� :��
�� !�����/���  !������� 0�8�&�)�4�� �%�� !��S��� =���D.  
  

          �����" ������� ����� 6���"�� 0N�� �& Q��/�� !��S��� !$ �� �
#� )���� !$ K�� @/D& 
���/�� ����
��� 
��: ���  
���%��� ()*�


��:�� 
 � � 
����
�� 
.��%��� �������� !� 
����� ���� ���8� .
   (��� 
��
/ !� (���� @/$ ��� 
��:�� ��
/�� 
����
C� ;�� 6����

 Q��/�� �������&   
���: �/� ������ (�� ��E 
.��%��� ����:�� �/� )�*���
 (�� � )�:�� �/� !�)�� (� � �& ��?�/�� ��� 
�
/ �$  
�.��%��� ���

 
/����� 
��:�� �/� �1��� ��E( � �$ 
:���
�� �����
��� ��� =�8� <�  
  

 
 

                                      3 

                  2 

                   

 

                                                             2 

 

                  1                                                     1 

                                                                                       

                                                             

 

 

 

                                     0.1                  1.0                   10  
��:�� 
 

 �"�)6 G1(  
 !�S��� 
&�+ !� �"� 
����
C� ���/ /�)1 ( ����� �4��+ �����)2(    

��
��
���
  
�	

�
�

�
�
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 �?����� 6��"���)3(� ���� ������E� 
�/�
�� ������'� 
�
/���  
  

����J �������� �����:�� <��� �/� .   �"�� !�����)6G1 (  ����/ /�
!�S��� 
&�+ !� �"� 
��:�� 
����
C�  ) �/ /���1( ����� ����� �4��+ 

 ) /���/ �2( �?����� 6��"��� �?����� 6��"��� � )  ��/ /���3( 
 9�5�P� 
�
/���
�� ���� ������E� 
�/�
�� .?���� �51 !� 	�"��� 

  �����:�� !� <
�� ;�� �& 
��:�� 
���J 
����
�� )���� !�S��� 
&�+ !$
) ����  !�0.3  ����  �� 10 ���& !���"�E �4�� .( ��$/��� �"� 
�


 �/� 
���� 
����
�� )���� �*& 
�?����� 6���"��� �4��+ ������ !�
��� ����:�� 
:
��) ����  !�300  ����  �� 1000 9.E.6(   ��&

 
����
C� ;�� �8� !�  
��
� 
������� ����:�� �/�  
�?.%/��� �$� 
 9�5�� !$ !"���:�� �������� 751  �����:�� 751 �/� 
I:�% ��=��� �
� 0)���* � �.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 
               
��:��            

                                                                                              
 �"�)6 G2(  

F����� !� 	��� 0��%�
� �/� ����� �4��+ ����� 
����
C� �/ /�  
  

��
��
���
  
�	

�
�

�
�
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"�� @/$ ��E (����� ����� @�� 
��
/ 
����
� ��� ��� �� !

 ���� !� �� ��� 0��%�
� �/� 9�5� �4��+ ������� 
�
/��� 
���J
7��+� F�����" 
.��%�� ������ 6�: 0��$ . !� 	��� ��� �/�&

 F�����) @"�
0.3 0
 ( 	�.���� ) @"�
1.5  0
 ( �/ /� 5%��
 �/ /���� !����� �"��� 
��:�� !� 
���" 
����
C�)6 G2(.  

  
             !�� 6��"��� 
���%�� �������� 	
��� ()*�$ (�������

!� <�� ���� 0�%�
� ���� ������E ��N/  0��)�
��137 �5��  T���
@���:662 9.E. 0������� ��N/ !� �$ 6226   �5��� �   @����: ������

 ���  �& 
���.��0.8 ���& !���"�E �4�� .  ����8� )�*��� 0��%�
� �/�&
�� 
����� ������: ��5 ������� 
�������   !$ !�"�� @/D& 
.��%�

   ����� !�� �J"$ �$ ��$ 
����� �������� 751 !� )�*��� (=��� !�"�
�*� �8�8 �� 
����� .5��9�  �" ��� �-������ 3�� ��%�E �J��  0� �8&

 
����
� �:�� �� � 
�?����� 6���"��� �4��+ ������ !��?&$  �&
 
��:�� !� <
�$ ;�� )� !0.1  �� �2  ���& !���"�E �4��.(  

  

6�3�1 0
3&�� �4�5 ��6 
������ ����� �����  
Ionization chamber survey meters 

           6��"�� �*���%�
C !�S��� 6�+ !� 
.��%� >��/$ 0���� !"��
    ��& !�S���� 6��+ 0��%�
� �?.� @/"�� �������� >��/$ <��� !�

�"�� ������� 	
��� ()*�$���� ������E !� 6 . 
�
�
  �/�" ����
8���� 
��4�� (��4� !�S��� 6�+��������� 
/��    ������� �$ 
���
�/���

   
������E ������
�� ������� 	
��� =���E �/� �?.� �*/D& �4��+

����� ��.�
��"�� ����� (�� !� 
����� ���� �8� C �� �/ 
��



���� 
���� QI��/ !�S��� 6�+ �:�� ��  �C����� 751 �/� .  <�����
   ����  ��& 
��:�� �*�����
� ���J ��E !�S��� 
&�+ ��?.� �& K�
��


�
���   
������� ����$� 	
��� 3��+# 6���"�� K
/$ !� �*��� ���

������� .3��+#� 75*� 
&�4�� ������ ������  :�
��� ���� 0�N/� 



  197

(�� �?�/�� 0�N/��� ���� Q��/�� ������ . !� ����   3�����
� ���.���
6��"" !�S��� 6�+ 0�%�
� ���� ������� 	
��� ()*�$ >��/$ 3��.  

  
� �   7��&�� 	�
��)0�&*
���( (:1%� �%� ;-�  

The condenser R- meter 

           3������ ���8� 
��%�
��� ()*�#� ,�$ !� )�*��� �51 �����
(exposure)  ��"�����)!��/����� (  
���#�� ���� ������� 
�/��
�� .

   ()�*�#� !��� !� @��� ��� 
���� 
��� 
��:�� 
���J 
����
�� )�����
(������� 
��%�
��� . )�*��� �51 !�"���)  �"��6G3 (   !�$)�� !��

��1 !��
�I�:  
  

1G   (=��8��� ! ��� )�*�(charger- reader device)   
2G   ������ 0� ��� 
��
�� ()*�� !�S��� 6�+ !� 
�����

 ! ��� )�*�� (=��8���. 
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            @��& �%��� F�% 6���� ��� (=��8��� ! ��� )�*� ��� ��
!�S��� 
&�+ . Q����� )�*��� ��M� ��� !$ ��E !�S��� 
&�+ ! � 0���

�.��� .      
��/���� 
�
���� �-�% Q�������� ���M��� !� �" �*N��
)�*��� Q���� ��� K"���� K�"
��"���� . ��E ��M��� ���� �/���

������ 
/� �� � ��$ 
&�4�� !$ �.�� .9�5 ����  
&�4�� 3���� 0��
���� ������E �$ 
�/�
�� ������'��     ���E ����� !�� �*��%�E �����

6������ .��%��� ��� ��M��� �*��� 68� ���� (=��8�� 5%$ 0��� . ��8��
�%�� )�4�� �*/��S�� �������� ��%� !� Q��/�� �*��� 
��� (=��8�� 751 

 !��/����� 3����� 
��� ��8� �*/$ �$ 
&�4�� ) @I�)�$ �$ ((�����.  
  

  ���*" ����8� !� (���� �1 )�*��� �51 �& !�S��� 
&�+�I� �
(electrometer)   !�������� �)"���� K:8�� !� �" �*�& �� � :�
�

 
.��%� 
���*" ��/ � ��� )   ���/��$ �$ ���/���"�E �$ .(  </����
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!� (��� 
&�4�� !����  ����� =��*�� ����� 
I&�"� (��� )  ��5��� �����
 �1 ����� =��*�� :
�����Z  =7.64 (�   !�����/�� �$ ���-"��� �1� .

   !����
"�� 
�&�+ 0
�� 6��� 9�5�� !���
" �"� ��� 
&�4�� �"���
(thimble chamber) .    =���*�� ��& !�S���� �� � !$ K�� @/E �� �

%�
� K�� @/D& 
&�4�� �%�� �������  9��
�� 
.��%� 0�� S� 6�+ 0��
!������ 6��%�� 5 ��/���.�� 9�5��
.��%��� ����:�� � .   ��& ������

  !���� ;��� �*/� >�/ �" F�%� 6�4�� !� >��/$ 
J-J ��� �� �����
�1� �������� 
��:�:  

  
1G   !� 
?.%/��� 
��:�� ��5 �������� 
&�+6  �� 35 

9.E.6.  
2G  ��:�� ��5 ������'� 
&�+  !�� 
:
����� 
35   ��� 

400 9.E.6. 

3G     !�� 
������� 
��:�� ��5 ������'� 
&�+400   ��� 
1400 9.E.6. 

  
�
�
  ��5 6�+ 
J-J�� >��/#� 751 !� >�/ �" !� ������� 

  !��"��� �& ������� ������� ;��
��� �$ ������ (�� K
  
.��%�
!�����.  

  
       ��� �5*� 3����� ���� 
�� W������ !�� �� )�*2   ���E10  %

� 0��
�� 0��%�
C� �/� �����1
���� 75 ���
/ 
���� 
��.  
  
$�  7��&�� ���� 	�
� ����)0�&*
�/����(  

Cutie pie survey meter (R/h) 

         �������E !� Q��/�� 3����� ���� ���8� )�*��� �51 0�%�
�

�/�
�� 
��#� �$ ���� .�8� @/� >��/$ ���:� 0� ���  3������ ���� ��
���� ����
� !� Q��/�� .  ����� �& !������� 3�� �/� )�*��� 6����
 0
�� 
������� 
������Cutie pie”. "  ���� 0
C� �51 !$ !� 0+��� ����

  
���%���� ��"���� ;� E �*��/� ���� ()*�P� 
������� 
"����� !�
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()*�#� !� >�/�� �51 Z��/E �& .��%�
� >�� @/$ CE  ()�*�# 
�
/��� @�
  �������'� 6���"" !�S��� 
&�+ 0�%�
� ���� 3����� ���� ���� .

����� =��*��� )�*��� �51 �& !�S��� 
&�+ P��� .  )��*��� �51 )�����

��:�� ���" ;�� ��� 
���J 
����
�� .      ����� @�/$ @����� 0�1$ !���


�
�
 ��. 5��9� � ���� ��� �� ������� 	
��� 0�%�
� @/D&  3�����

���� 
�����E �����
� ���� 
��  �& .  �"�� !����)6G4 (  (����

)�*��� 
�&��+���&.  
  
6�3�2    
����/ ��� �����( �=
�5 ���� �� 
(��*& ����  

Proportional or G-M  type survey meters 

            
��
/��� 	�
��� ()�*�$ 01$ !� ()*�#� !� >�/�� �51 �����
�����
� �$ ���� �E�����  
�?.%/��� 
������� �����
��� ��5 ���� .

 9�5 �& K�
�� <����E  0��� S� >�/�� �51 !� 6���" ��� 
�/�"�E ��
  6��4� 
/��8���� �4��+ ������� 
8I�.�� 
�
�
 �� ��E� 
.��%� ��"�$�

���S!� .5��9�  �$ 
����� ������� ������ !� 6�"�� ()*�#� 751 0�%�
�
� ������� !� � ���  -�?& 
������� �*��� ��� ��*� (��8.��� 
����

   
�������� ������
��� 3����� ���� ���8� �
�I��� �*���%�
� !�

.��?�� .0�%�
� ���� ()*�#� >��/$ <��� �����  �$ ���
�/��� ������ 

�?�/�� 0�N/��� 6��"" �4��+ ���� .9�5"�  )�*�� ()*�#� 0N�� ��)�
��� ���� ,�:� ���
 @��/�   0��
� ��"� @���
� �/� �� !����& �$ .

9�5���   ���E 
&�?��� ������� ;��
��� (�� ��� ����
 0" �� !"��
 ���� ���� !��� �5�� )�*���� ������� 3����� ���� ���8�)  ���� �$

 
8����� �& ��?�/��.(  
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 �"�)6 G4(  
3����� ���� ���� )�*�  
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�& ()*�#� 751 �J� 0�%�
� C ������     ��& 3������ ����� ����
�4��+ ����� ����� !�)�� ��: K�
� 
������ 
������� �����
���.  

  
6�3�3    
������ ����� ����� ��
���  

           ��/� Q�/��� ��� !� ������� 	
��� ()*�$ <��� (����� 0��
�*���/E .  
�.��%��� @I�)�$� )�*��� ��/�"� FI��% ��4�� ��N/ !"��

 K�� @/D&
���� 
.�� ()*�#� 751 (����� (���E�     !�� ��"S��� 9��5�
�*�=��� 
 � . (������� (���E ������� ��
�
$ ���$   
���1#� 
���+ �&

   K��� ���  �4��+ ������ 0�%�
� ���� ()*�P� 
�
/��� ����%�
  )��*��� 
/���� 
�$ =���E ���� ��*� 
J-J �" (�� <���� �*������� 

��� ���4� �" �/� 9�5"������:.  
  

        ��� 	
��� ()*�$ (����� 0��������   ��& 6��"�� <?�� 9�5�
 !��� �
�/1 <?�
�
/��� �<���� ����� .  ������� !�"� !$ �?.��

 !� (������� 0�%�
�����>�/ �./ ���� �5��    K���:��� ���������
�*� �����E 	
� =���E .����� 3�4�� �5*� 0�%�
� �� ����+�  
�����

��/��������� :  0��)�
�� !�137    �����"���60 �  0��������226 .
     0��%��
C 
����.�� 6���N�� <�� (������� 6��N ,��:�� !$ K���

)�*���� )�*��� ��� (������� Q������� <���� (������� 0�� !$�  9��5� �
������� :��/�� 
��/�� ����� 0��%�
�� .0�� !$ K�� ��"  (�������� 

� ��&�
� (�� ����! 6��"��� �������    ���
��8�� 
 �� !� �"S���
) 
&��
��� �
"��� <������ !�/�� <� QI��/�� 
8��:�� 9�5� (   !S�� �����

 ����  !�� W����� 
�?.��� ��&�
���1 G3 ��� .  
  

   ������E ����� �& (������� =���E �?.� !�� #� 3�� �&�
 ����� 
���$ 0��%�
�� 9�5� �/����    ���/��� �"���� ��./ ��*� :

��������  <�<?� 
���#� ������� 751   �"�� �& !�����" <?� �&
)6G5 (� !�� ������ !�"� �� ������  �/���� @�� <��#� ) (�� �$

 
���J !�"� ��"� �������� .(   @�/D& ���
��8�� �$ (������� =���E �/��
�� �& 
������� 
�.�%�� 5%M� !$ K��!��
  .9�5"�     
���  ��& @�/D&
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0��%�
�    ������ !�)��� �����C� �& <?�� !$ K�� 
�?�/�� 6���"��
6��"���  
��8�8 �� (=��8�� !� ��$ (=��� ��E ��M� !�)�� �51 !E ��  .

5��9�  
������� 
�.�%��� 
����� 
/�)P� 
�
/��� ��=��8�� 	� �� K��
(=��8�� �& S:%�� K
/ ��� ��.  

  
                                         1 

 

 

                                                            d 

 

 

 

                  1                    d                                         d              1 

 

 

 

                                                              d 

 

 

                                                         1 

 

 �"�)6 G5(  
�/���� �����E ���� �& (�������  

1G 4 �����      2G 6��" 

  
  
6�4  
������ >�-&�� ��� �����  

The contamination monitors 
     	�
� ()�*�# 
 ��.��� 
����� ������� !������� Z�� � C ��

 ���8� !# ��N/ �*��E !�?���� ���� 
����%�� ������� ���8�� �����E
� ������� 751 ���� ������E !� 
����%�$   75�1 !�� ��/�����/�� �

���4� !�"� �� ������� .  ����� �& �J��� �� 

�I��� �:�%��� !$ CE
  !�� 
����� (����� K�
� ���� �$ ��������� 	:
#� �J� ����� 
I��
 
����� ������� ����� 
8:/� �& =��*�� ���� �$ �,-+�� 0" � ������

2 
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� �*/� (���:�� 
��% ����� �J131 . �$ ���#� �$ 	:
#� ���� �J���
   �:��%� ���� ���J" ��)� !$ !"�� 
��
� �:�%� =��*�� �$ ��-���
  0��%��
�� ������ �51 !� 6�"�� !"�� C !�  �& �����%�� 3�����

�"5�� 
8��
 ������� 	
��� ()*�$.  
  

   �������� 	
��� )�*� !S� @/S� ������� ��� )�*� !�"���
!�   ����� ��  ��*���
�� 
?�/�� �*� ���"�� �/���"�E )�*�� 6��"

�?�/�� 0�N/��� ������ ��� ()*�$ <��� .  ������� ��� ()*�$ !$ CE
      
����� �������� 	�
��� ()*�S�� 
�/��8���� 
8I�& 
�
�
 � )����


�
�
 ��.  ()�*�$ �& 
��%�
��� 6���"�� !$ ��E 9�5 �& K�
�� �����
!� �1 ������ ���  ���� �$ �.�$ ����
� !� 6�"�� F�%��� >�/��

):8& 
/� ���� ����
��� �$ (�1��+ !�� .   ���� ()�*�$ ����� C�
  ������� !�" �� ��  ��/�����/�� �$ ���� ������E ���� ��� ������

����
��� �$ �������� 751 <�� !����� .  75�1 ���
�� 6��"�� (=�."&
(��4� ��/�����/�� �$ ��������  
��4��) !� �8� ��1  �"�100000 

!�����/ �$ !���& .(    !��"� ��� ��������� 751 !D& 9�5 !� -?&
   
�8I�.�� �*����8� ��N/ 6��"�� ���� 
��4�� (���� ����� !� (����

(����� )����� ���  ..�$ ����
��� 
�
/��� ��$�  6��"�� (=�." T���& �����
 ����
��� 751 ���
��100  %�%� ����:  6���"�� �%�� ��E 0�
��� .

   W���
�� 
���4�� 
8���� (���" (5&�/� ������ ��� 6���" )*�� �9�5�
����
��� 751 ����� .  6���"�� �%�� !� ���� 0�
��� ��%� ������

������ ���� !� 6�"�� !"�� �������� ���
� @/D&.  
  

 ������ ���� 
��%�
��� 6���"�� 0N�� !$ ��E (����� �����
0�%�
� �4��+ ������G 
8����� (5&�/�� ��5 ����� . (��� ������ ��8��


8����� !"��� �!�)�� (� � �& 
��
��� ��?��� ���� .  ����.�� �9�5"
����" ����.� ������ ���� F�%��� 6��"�� 
�
�
  .  ����� ()*�#�&

 ���� ���8� 	���� �����131    7����8� ����J��� ����
 ��� �1000 
��"�/0
2 � K���      T���� �5��� ������� ��  ����8� �*���%�
0.4 
��"�/0
2 . )�*� 
�
�
  6�����)6��" �$ (    ���� ������� ����
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     (=��." ���) 	:�
�� �5�1 
 ��
� ���) ���"& �(5&�/�� 	:
 
 �
�
)
�
�
  (6��"�� �51 .  
  
6 �5     �
�!��� ������� 	�
� �����  

Personal dosimeters 

�� 
��� ������� 	
��� 0�%�
�    �������� ;���
��� ���� 
 !������ ���%��� �$ !�"��� �& 3����� ������    <�/�� 9��5�� ��� �

!"��#� 751 �& !��������    ��*�& 0*J��"�� ;���8�� (��.�� ��� �� �$� 
(�:%�� ������� 3����� �&-�� �������� .   	�
��� 0�%��
� C !"��

 
���%��� 
������� ������� ��� �� 
8��� 
8��:" �������   �����
    9��5� 
�/��� 
��/�) (�� �-% !"��#� 751 �& !������� �*� 3����

�
������ K��
P:  
  
$G   ���%��� �%�� 6��N�� 6-�%�� 
����� ���� 6-�%�

 ��4�" �$ 
���
�������� 
��:.  
KG   6-�%�� ���%��� �%�� �%R ��E !�"� !� !������� �8/�

!"��#� 751 6-�%�� 3����� ����. 

  
        �� 
����� ��� ���
���.  ����� 
�/�) (��& �& ������ �*� 3���

� @/D& !"��#� 751 �J� 
/��� � !$ K� �� ) ������ (   
���
� �������
 
��%��� 
����� ���8� 0
�� 6���(personal dosimeter) .  ��J"��

J-J 0��%�
�>��/$ 
 �I�
��� 751 !��  ���
 �� 0��.�� �1��   ����8��
��� 
��������
����� ���8�� �  ���� �� 3�����(TLD) 

  
6�5�1   	��.�� "-
��� ����      The film badge   

          �I��
��� �J"$ !� ��
 �� 0��.�� (��� �/�" (���� (��& �� 

��%��� 
����� ���8�" �����/� . ��
  0��& !� ���8��� �51 !�"���

�� 6��� 9��
-��� !� 
��% 
N&�  �%�� <?��  ���
 �� 0��.�� (��
(film badge).       3��4�� 6-�%��� 0�%��
��� 0���.�� >��/ 6��%��
@� F�%��� . 0-&$ 0����� ��� !� ������ �& ![� 0�%�
��(radiation 
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monitor)  �������� !� 6�"��� 
��% .   !�� (����� 0-&#� 751�
     K� ��
���� !�*����� -�" !�� (�:4� 9��
-��� !� 
8��� 
 ���


 �����  �& <��
�� >�/�� !� @��#� � $ ��� K� �
��� !�"� �� �
%[� @���� ��� =�:��� >�/�� !� !�"� !� � .  ��1 9�5 !� 3�4���

�� ������� ���� 
�/�"�E
���.  <
�� ;�� �&������� !� . K� �
���&
 <��
�� (fast emulsion) �� ������� ���� !� !"��
���.   �� ���� �5E

� ������� 751 !�50 ��.�
��"��� 50 ��.�
 ����� .  ���) �5E ���$
�� �������� 
���
���.  !�50  >)/ ��E ��M� �51 !D& ��.�
 �����

�� �/� 0��.�� !� <��
�� K� �
��� 
8�:@���� )@���J�� 7��*N� ( �"� �&
 =�:��� K� �
��� 
8�: �8��� (���(slow emulsion)  
��
�
  ��#� .

9�5��� � ���� !"���� ������
���.  !�� �*���� W����� ����50   ������
 ���� � ��.�
10 ��.�
 . 

�
 �� 0-&#� !� Z�) �/�� $ 0�%�
��


�
�
 �� �.��%� !�*�� �5 � �� 0��& 0��%�
� !� C�� .� �/��N  ���*
 
����� �*�-% �������� ��� ���� 0��.�� ,:�/� 	��� @���J�� 0��.�� .

������ 
��� K
�/���>�/ �" !� �������� 
��" <� 
 . 
��� ��8��
  
������� ���8�� 6��� F�% )�*� 0��%�
�� 
������(densitometer)  .

  ��������� !�� >�/ �"� 
������� 
����� ��� � !"�� 9�5 ����� 
 
������ 
���� 
������� 
����� !�� 
�-��� �/ /� ��E >������ 9�5�

)<����� ��.�� <���.(  
  

        
N&� �� ��$ ) �"�6G6  (    !�� 
�8��� 
���� !� (���� �*&
5&��/� �� �& (�� ��� ��� � 9��
-����  <:� (�� ���J�� 9�5�
�)�& 

  �����
��� >�/ !� 6�"�� �� ����� 
��J�� ����)  ����� �����
�� 
����� ������E� ���/�����/��� 
�/�
�� 
��#� .(  !�� 3�4�� !�"��

� $ �� ����� 751 3�� ���/���"���� ���� ������E 
��: )���� �/� .
   0���.�� =)�� �& �*���:� �*���" ��� �� ���� ����
� !� 6�"�� 0���
 F����� �� � C ��  9�5� 
N&� �� �& (������� 
 �.�� � � <�����

�1�J$ @�& 9���& ��
 �� 0��.�� ��E ���� ����
��� 75*� . ������E ��$
���� =)��� �& ��8�& ����   !�� 	���� �*��� ��J��� (5&�/�� � � ���

F����� .    �� !�� �$ ���� E ��1 
��:8�� 751 ��� !$ ��  ��JS� �
 �$ �I�?��*"���JS�F����� �& Z��)#� Z��/E �$ !�����" ��  ����
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     @���� ��1�J$ 9����� ���
 �� 0���.�� ��E ��/���"��� 751 .  ���$�
� !�� 
������ ,�& 
&���� �*
��� 0��& ��/�����/��   !��������� !�$)���

 F����� !� �" !� !�"� �%R 	���� ,��
�� F����� 	��� � �
0�����"���.  

 
 

 

 

 

 

 

 

 

 

                                      K                                               $ 
  
 �"�)6 G6 (  

$G                 ��
 �� 0��.��          
KG   =�:4��� 5&��/�� ��5 
N&� ��  

  
  

� Q�/�� 0�����"�� (��� <� ���.�� 
���� �� ��/�����/��&!  ���.��� �51
 ���� ������E ,-:/�γ ���.� �$ n , γ) (  �   ����� �������E ��M��

   !�� !��"��� 	����� � � 
������ (���) ��E ���.��� �51 !� (������
� !� 0�����"��� F������������ 	����� � � 
���/�� 
����� . ��"

�*
./ 9��
-��� (��� !� !���/�� !��%R !� ��� 
N&� �� �& ����� 
 ��#� 9�
 T���300 0��� �����/ 0�
2    �/��J�� 9��
�50   ������

0���/0
2  . !�� 
������ �& ,�.�� ��� � !� ����� !�51 !� 3�4���
� =)���� 
 �.�� � � ������� 0��.�� =)�   	������ �� � ������50 

0��� �����/0
2   �� � ��� =���E� ���� ����
� 
��: 
&��� 3�4�

�)-�� 
��:�� .  @"��
 T��� �5�� 9��
-��� 	����� 
�
/��� ��#� 9�5"

300 0��� �����/0
2  ������E !� 
����� 
��� 	� ��� 0�%�
� @/D&
�*���: !� 
���" ����.  
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       � ��:  6��:$�
N&� �  
.��%��� �� ����� !�� ����.�� 9�5"�

F����� !� ����& �$ 9-
S��   ,:��/��� ��&� ��� � !�"�� 9�5�
�*?�� !� 
.��%��� 3����. 9�5"�    
�N&� �� ��%�� <?�� !$ !"��

�� (��� !� 
8��� 
 ���0���/ .  3������ ���8�" 
 ����� 751 �����

������� ���� �� 
��  �& .����� �/�" �5D&�� 

���.  ��/�����/�� !�

 !� ���$ 
���� ��10  ��.�
 �����)�$ !� ���$ 1 0� (   75�1 !D�&
�� (��� :��/�� 
�&�" 
�����    ����� 
���� (���� ��E �*��� �� 0���/

���� ����
� .!"����  ���������     �������� :���/�� �����)  (�����

������� (�� 
 ���������� 6���"�� � $ 0��%�
�� 0���/  ���� �� ���

3����� �51 !� 
���/�� 
�����.  
  
6�5�2    ����.�� "?4@� $�
�� �
���  

              
���%��� 
������ ����8� 
���
�" 

�
 �� 0-&#� )����
K��� (��� ���)� (��� 
������. � ����.�� "?4@� �
��� "#�
#:  

  
$G    ���� ��.�� �*��J� ��  (���
� 
.�� F%��� �*�8&���


�-�     �������� ����
�� 
��I�� 
���
� 9�5� �1� @
@� 
�
/��� 
�"������.  

KG     �5��� F%���� 
&��� ��E 
�� �� 0��� �*/�J F%�

�/.�� �*�I��%� �*�� �. 

ZG   ��  �*N.  �/� ��� �$ �& �*�=��� (���E !�"�E$ !
����� ����� ��4�� C 
������ 
���  
8�J� ����� 9�5��

3����� 
��
�. 

  
*���� 0�� �� ���#� $�
��� 7�( ����.�� "?4A� 0B4 �!C� $


-
:  
  
$G   
���: (��� (��� 0��.�� 0�%�
�)�*� ����   ��J"$ �$(� 

� ����� ���J���� ��*N'� 9�5 ��� @��
�E 0��)  ����� �$

������ .(5��9�   0��� C 
������ 
����� 
��� ��� � !D&
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���: (��& ���� ��� CE)  �*�� �����  (  ����� !�� 

0��.�� 0��%�
�� !$ !"���     3���� ��� F%���� !�"�

 �*� W��
��� ��� �� !� ���$ 
����(��.�� 751 �-%.  
KG  
����8� ��/E� 
8��� !�"� C 
������ 
����� 
���. 

ZG    0���� =�?��� (��� �� !� ����� 0-&#� N.  (���?
 ��4�� ��  -J� (���
��" 
I&���� !"��#� �& (����� �� 

I��%��
 �� K� �
��� F. 

�G   
���: (��� � ���� 0��.�� 0��%�
� 0��)�*� !� �J"$.( 

  
6�5�3    ������ 	�
�� 7
����( D���.��  

The thermo-luminescent dosimeter ( TLD) 

         
����� ���8� 0�%�
� 3������   �������� ���� �� ���� ��
 ��� �� 9�5"� 0
��� �& 0"���� ���� 
�������3����� ����.  

  
         
�)�&C (��� !� (���� �1 F�% 6��" 3�4�� �5*� 0�%�
��

 0��J���� �����& !� (������(LiF)   0���
��"�� �����& �$(CaF) .  ��/��
 ������ 751 �J� ��� �������� :�8
)    
�?����� �������� 
�&������

���� � ((������ ��/���"�E ��E �������� 751 
��: �8�/��   75�1 �8�/�&
  
 ���� ��E ������� ��/���"���(band)   
���:�� ����$ .   0�1$ !���

    ���E ��8�/� ����� ��/���"��� !$ 
���� �� 
?����� ������ FI��%

 ����� 751 �& �8�� ���$ 
 ����   ��& (����� (���  
��� !$ ����:


/��� ���  . 
���� (���  
��� ��E (����� !�%
� �/�� ) ���� 200ْ0 
G 300ْ0  (
���#� �*� ��� ��E ��/���"��� ���� <�  �����/�  ,��& 


��:�� �/�#� 
 ������ ���#� 
 ����� !��   
�I��? 
?�� �"� �&

�I�� .  
���" <� �*/�%
� �/� (����� !� ������ =�?�� 
��" K
�/���


:��
�� �������� !� 
������ 
��:�� .5��9�    
���" ����� �/� @/D&
���� =�?�� 
&������ �I�
��� !� �S� ��)  �I��?�� 6��?��� K��/$

-J� (
������ 
������� 
����� ��� � !"�� .(����� ����� �/��   ����
�*/�%
� � ���� !� �*��/���"�E (��J� 
 ��� 	����0�%�
 �������  (��


����� ���8�" ;�%$.  
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       ��'� (���� 
�
�
 � 0��
��"�� �����& (��� )��������� . !$ CE

.��? ����� �������� 
��: ��4�� �*�����
� . 0��J���� �����& (��� ��$�


.��? �*��
�
  !$ 0+� 
��:�� 
���� 
����
�� )����&.  
  

 ������ 	

��� �
��� "#� 0��D���.�� 7
����( 
-
 ��:  
  

$G  ������� ��� �*���%�
� (���E.  
KG  .�� 
������� 
����� ��� � 
��*
 
�
����  C ��#�&

 ����  !�& �&��� CE Z�� � ) @�& (��� �� 
��� ���
 �� 250ْ0 ((������ =�?�� 
��" ���8� )�*��. 

ZG    ��������� 
��: ��4�� <
�� ;�� �& 
��:�� �*�����
�
��
 �� 0��.��� 
/��8���� 
:��
��. 

�G    ���  (=��� !�� 
���� <���
$ (��� �*���%�
� 
�/�"�E
$ �*/ !�%
���� CE �*�& 
/)�%��� 
��:�� �8.� C. 

�1    !�� �*� 
��%�� 
�/.�� � ��/�� 
&��� ��E 
�� �� 0��
�*��%�
� �5�� F%��� ���. 

  
	

��� 0� E�*�� �6# $�
� �#� 0� 0� F/ ������ 
-
 ��:  

  
$G  

�
 �� 0-&#�� 
/��8���� 
.�"��� (���).  
KG   N.  
�/�"�E 0�����8� � 
�����  >���?� 9�5� 
�����

  
���" ����� !�%
��� �����  �*�& 
/)�%��� ���������
@���
�� Q��/�� =�?��. 

  
        
����� ����8� 0��%�
� ���/� (��%#� ���/
�� �&�  3�������

���� ��  �����%��� !� ������ �&  �� � 
���
��� 751 �� �   0-�&#�
��� 
����� ��� �� 
�&�?E 
��
�" �$ 

�
 ��  ��*� 3���� ���� 
��%

 (���� 
�/�) ����& �-% ������ )
���� 
.��  
��*� �$ 
����
$ �$

�"������ 
���.�� 
����� ���� ���:$ �$ .(   & 0���.�� (���� ���$  ��/�"

�(��� �0�%�
� ��!���  
���: (��� 
�"������ 
������� ������� ) (���
 ����8� �*�.(  
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6�5�4  �*��&�
*�� �1� G������
���� �  

 Fast neutron track plates 

         >��/ !� ��
  0��& !� (���� 
���
�� ��/�����/�� �J$ W���$
 
N&�  �%�� >�?�� F�%)9
�� �$(�     ����" ��  ���E @��� �1�

 
����� ���8��5 ��
 �� 0��.��.  
����� ��� �� ���8��� �51 0�%�
��

���
�� ��/�����/�� 
��%���� ��.�� ��  (����� <� ��/�����/�� 751 �

��/����� Z��% ���.��� �51 !� Q�/�� 0��.�� 

�
 �� .   75�1 0��8��
  ��/� !������� �J$ �*N�� 

�
 �� K� �
��� (��� !��S�� ��/�������

0��.�� ���J�� ��*NE .  K�"�
��"�� 0��%�
�� ��J[� 751 ��� ���� 0���
F�% .��J[� ��� ������ �& 10
2 � 
��J��  
�������� 
����� ���8


���
�� ��/�����/�� !� 
���/��.  
  

            !�� 
������E ������ ����8� ���8��� �51 0��%�
� !"���
 
���
�� ��/�����/��� W�����1���8�  !��1 ��.
 ������ 1  ��.��
 .

K��� 01$ !��  ����8��� �51       �� � ���J[� ��� 
����� 
�����
� (���"�� 
.�"���� K�"
��"���– / ���
– 
������ 75*� .9�5 !� -?&�� 

 ����� ������� 
�
/��� �
�
  ����� 0-&#� !� >�/�� �51 !D& .  ��/�&
 ���  �& ���� ������E !� 
�����E 
���� �*������100   ������

 
�.�% ��� � ��N/ 
�� �
� 
�/�����/�� ��J[� �� 
���� 	��� ��.�

 @�" 0��.�� �& 
������ (�����E K�
����� �����.  

  
6�5�5   
(
��� ������ 	�
��    The pocket dosimeter  

        !� (���� �1 ������ 
����� ���8�    3������ ����8� 
��
�
 ��%��� ) !��/����� .( ���8��� �51 @���� ) �"�6G7  (  ��� �� 0��

0� ��� �"��� ��  !� .
&�+ !� K"���� �  ���� � (��4� 
�/��:

� $ !��:� ���9� �� �%[�� ��J� ��1 . !� 9� ���� K:8�� </���

)����"�� (��� !� <�&� :�%  . !�� 
���*" 
/ �� !��:8�� ! � �/�� 
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�./ ����� 9� ���� K:8�� �����& !��:8�� �&�/�� >�/�� �&�/��� (�� ��.� .
  �$ ����� ������E 
��%� !�S��� 6�+ �%�� �������� :�8
 �/��

�M� 
�/�
�� ��������
&�4�� �%�� )�4�� !��S� ��E �������� 751 � .
 �8�& !��:8�� !� �" ��� 
/ ��� �8� !�S��� !� 
/�"���� 
/ ��� 
���/�

:�% 9� � ��E ��M� ��� ��*/�� �&�/��� (�� )����"��    ���E !�� <�&���
����:�� @�?� .9�5��   �� ����� )��*� ���8��� �51 ��� @��� �� 
/ 

��*"��I�
�� ,�:� 9�5��       :��%�� ��5 =����*"�� ����8� 0�
� @����
�)����"��.  

  
 

 

 

 

 

 

 

 

 �"�)6 G7(  
������ 
����� ���8�  

  
          ������ ;� E </�� ��� �$ �& 3����� 
��� (=��� !�"���

Z��)�� !� 
/��:
#� �6�.���     ��*/� =��?�� ��%��� W��
�� 9�5�

&�.� (��� !� ;�%#� (���8�� </���� *��� ���� Q���� �) �� ����8� 

@I�)�$ �$ !��/����� 3�����(�  Q������ �51 ���"�� 

�� �*��� K"���
�
��� (=��8�� ��� � !�"� .   =��?�� �� / @*����� ���8��� (=��� 0���

   Q������� ,��& )�����"�� :�% �N �*N�& 

���� �-% !� �N/��� .
9�5��� ��� �$ �&� (����� 3����� ��� � !"��.  

  
        �*� <�/� 0��%�
�� ���8��� ! � 0��� ) 7�*� T���1.5 ���&(� 

 ����J�� :�%�� !� !�"� �� ���$ )����"�� :�% 	��� !$ ��E�   !��"��

��.��� (=��8�� �1 (=��8�� 751 .    �������'� 
�&�4�� 3���� �/��

 �/��� ����:�� @�?� ��E :�%�� 9� �����8� 3�����.  
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.��%� >��/$ �����   !��� �*���
�
  W����� 0-&#� 751 !�1 

 ���� � ��.�
 �����100 ��.�
 .  �5�1 =�8� !$ ��E (����� �����
 !�)�� !� 
���: (�� ���8���)�*�$ (�� ( ���� 
/ ��� K�
� ��E ��M�

3��� �$ ���  !�� 3����� (=��� 9�5� �:��� �*� ! � . 5���9� 
 ����
#� K�
��� ���8� 
&��� K�� @/D&&�  9�5� 3����� 0�� 
�� 
������'� ���.�� 3����� ��� � 3�4�.  

  
6�6 ������-� �- ��  
  
1G       	�
��� ()�*�$ ��& ��1�&�� K�� ���� ����:���� 01$ �"5�

�������.  
  
2G   ������� 	
��� )�*� �*/� !�"�� ���� 
�
�
#� =�)�#� �1 ��

\
.��%��� ������'�.  
  
3G  �� 	
��� ()*�$ ���)� 01$ �1 ��   6��+ 0�%��
� ���� �����

\!�S���.  
  
4G     �$ !�S�� 
�&�+ 0�%�
� ���� ������� 	
��� ()*�$ !�� !���

������'� 6��"" �4��+ ����.  
  
5G  3����� ���8� ��/�"� ���.���� W���   75�1 !�� �" ���� �

��/�"��� � W���@��� 
�.�".  
  
6G   3����� ���� ���8� ��/�"� �"5��/�"��� 751 !� �" ����� 

� W���@��� 
�.�".  
  
7G  ������� 	
��� ()*�$ (����� K�� �5����\   5��./� !"�� 6�"�

\ (�������.  
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8 G   01$ �1 ��� �\������ ��� )�*� ��/�"� �1 ��

\������� 	
��� )�*� !��� @/�� ,��.��.  
  
9 G  ��
 �� 0��.�� (��� K�"�� W����  �� �.�� !� 3�4�� �1 ���

\ 
.��%���.  
  
10G  6�"  
������ 
����� ���8� ��
 �� 0��.�� (��� 0��%�
� !"��

\
.��%��� ������'�.  
   
11G  \��
 �� 0��.�� (��� K���� ���)� 01$ �1 ��.  
  
12G   ���/�����/�� !� 6�"�� �/�����/�� �J#� W���$ 0�%�
� 6�" 

�*���� ���8�� 
���
��\. 

  
13G  � ��� $��� �1 ��83����� 
����� ��� ����� \�   ����)� �"5�

���8��� �51 K����. 

  
14G  ������ 
����� ���8� K�"�� 6��     ����8� 0�%��
� 6��"�

\
��%��� �������. 

  
15G     3������ ����� ��� ������ 
����� ���8� !� �" !�� !���

��
 �� 0��.�� (����. 
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�������� 
����
� ���� 
����  
Units of radiation dosimetery 

  
  
  
  
  
  
  
  
7 –1   �����  

 ���� ��� 	
���
�� �� 	
����� �������� �� 	
�� ���� ���
 �������
 	 �� ���!�" ������ ��# �������� $%& 	'�� (���� �� .  ����

 	

�� �������� 	*����*)������ ��
" ��* ( -.��� /" ��0� ������
 	 ��
 	1����� 	'���� $%& ��.* 2
�� ������ 3�  3�
��2"    ��� 4����� �
5*�

3� ��6 ���
 	 �� ��*�"7� 	�*�8 .9�% -��6  ��������* ������ :


	
���
��� 	
�����6 �&���1� �� ����*;�* ��
��.� -
���
 9�%*� . ���

������ ��* :
� /" 	�
<��� ������=� 	*����*	

�� ��  6>/���� ��� 
 ���'�� �&��"� 2
�� ������ 3�  >���5� ��� 	
����� ������� ��0� 9�%�

3� �� 2" ��� ���� 4���� ���
!  �

?� >
�� �� .  3��  @��� ���"
 ���  ������# �� 	
�
��� �������� �� 	
��� �������   ���
�� �� ��

��* :

 ; 7�A" 	
����� 67�

 2" �� ���! �������
.  
  

        %�69�  ����� 	

�� �������� 	
�'�� 7�A"–  ������ ��
" ��*–  ��
  �����
�� �
�
�� �&�� � �� C���� D 
 	�
<��� ������=� @�����
   ���
" �� �� �� ����
 2��� ����E� -
�  2" 	
������ ����
����� .
 �
�� :�
�� 	��5����� ���
��� ��� C�����* (1.�� �%& F�5
��� 

 ��������)	
������ ��
������ (	
������ ���� ���.  
  

����
� ���
�  

G 	����–     ��������� >"��� 	�"�8�– 
 @�����–  	
������ 	�� ��–   <"������
��� �
*
�� ������ � – ���8?
  2 ����
*�� �

 ������ 3�  (5��–    	��� �� (���G 
(����� 	����  
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7 �2    
������� ���� ��� !)  �#
������� �
��� ����(  
Radiation flux density ( or fluence rate ) 

  ��& �� 	��� ��� �������� �� 	
����� ���
� �� >"���� 	"�8�
 �&��' 	
��� (/5 ������ ���
� �� ��� �� ���*�1  3��2  )  ���
�

 ��
����� (	����� $%& ��� 	
��8�� 2" .    >"����� 	�"�8� D���
 ���
�
	.��5��� (���E� ��% 	����� ���1��� . ��
H1 ��1��� 3 
 ��� �%A"

   7��A" �&���� >"���� 	"�8� �
�
� D������ 	����� ��
 	"����� 	*����*
 �
��� ��1��� �%& ��*��� ���
) I���	��� (�� 2   H�1 	�
�����
 .(

 (�� J��
�)7G1 (>"���� 	"�8� D��
 	
.
� φ    ���1� ��� K�����
2���  2������ 7����S ���  �� 	���P   	"���� ��*�R    !���� ���

 ��1���S  	"����� $%& ���� L

*� 6R   ���' C1� �� �
8�* �*��
��1���. >"���� 	"�8�"     ���
 ���� !���� 2" ��1��� -��
 �����

 	�����* ��
��P �*� 2&�� ��:   

φ   =   S  / A    (7-1) 

 

 

                   Z 

 

 

                               θ               θ 
                                                   dϕ 
                                                                R                 P 

                 S                                                                               Y 

                                             d θ 
                     φ 
            X 

    

  
  
 (��)7 G1( 

�� >"���� 	"�8� D��
 	
.
� 	��� �P �� 2��� ��1�  
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 L
S  ��1��� ��� )3
�  ��
�*/
��8	 ( 6A  2��� ����� J�� 	
���
 �&��' C1�� �&!��� 2" ��1��� ���
R .	
��� �# L

�   J���

�����  �&��' C1� 2���R 2&:  

A  =  4 π R
2  

 >"���� 	"�8� ����Φφ)* ��
�3
� /3�2.	
��8 (2&:  

φ  =  S / 4 π R
2
    (7-2) 

 >"���� 	"�8� �� I�φ �� ���  -�� �
��� �*���� D����� 	�
�� 	�
��1��� ��� S 	"����� -*�� -� �
���� R 	�
���� 	����� ��
 . �� ��

�� ���
��� ��"� 7�� ��# �������� 	
��
�	
�����  ��
� ��(SI)  �O� >��

J��1� ���
� �� >"�� 	"�8� ��� �& �
�  " �� ���
� �� 	��
� (���

������.��".  
          

 C����2����� -
*���� �����* ��
5E� 	'/��� $%&  	��
� (����
 ���
� ��)�� >"���� 	"�8�� (2��� ��1� ��.  

  
         �� 
# ���
����
� �� 	��
� (���   ��% ����1��� �� 	 �����


��� �� �
��� ������� ���1���� 	.��5��� (���E��
 �� 
 ��.  
  

        ��� ��1
 ��

E� �� �
8� 2"�     ��� 	�.��5� ������� ���1
��������6 �� ��1
 �� ������# :.�  	�.��5� ��'��* ���� Q���� .

%����6 � D 
	��
� (��� �

� )>"�� 	"�8� (�� ���
� ��   ���������
	.��5��� Q���R� .    >"��� 	�"�8�* C���
 �5S J��1� 3�5��
 ���

��

 	'����(energy flux density) .'���� >"�� 	"�8� C���� 	
�� ���� ��� 	
	
��8�� 2" ��
����� ��
� (/5 ������ 	'����  ���
����   ������  	����

��	�
�� .	'���� >"�� 	"�8� �
�
���6      >"��� 	�"�8� 	�"��� D� 
 7�A"
'��� ������������ .�������� $%�� ��� �%A" ����� :.�    	�'����E 

 	'���� >"�� 	"�8� ����Φ  2&�� ���*�:   

Φ = E φ    (7-3) 

   >"��� 	�"�8� �
�
� ���
 7�A" ���
� �� 	'�� C/�5� ��� ���
2�O�� 	'����:  
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                         Emax 

Φ   =     ∫    φ dE      (7-4)    

                         
0 

�� J��1��� �� ��# ������ �� ��� 	"�8�� �
� �� 2������ I��
�
 	'���� >"�� J*1���
� (��� �& 	'���� 	 (Energy fluence rate).   

  
7 �3   %���
�     The exposure 

    3��� ��&��
� 6�
����.� ��� (�
� @����� J��1� 3�5��

2��
!
" �5O�� . ��� 	�;��� @����� J��1� 3�5��
 63���� 3��.���*�

	�
<��� ������=� @����� .  ��
 ��5 @����� ���
 �' 3��.��� �%�*�
(external exposure)  63�� �� T��5 �� �� -�� ��1� �� � ��� I� 6

 �
�5�� ���
 �'�(internal)    (�5�� 	���� ����� (�5��� �� � ��� I� 6
3� �� . 2�����* @����� C1�
 �' 6��
� 3��.��� �%�*�(occupational) 

   �� 6	��
<��� ���������* (���� ������
 �
%�� F�5�E� @��� I�
 2*���*(medical exposure)  6   F
5��� C���* ������ @��� I�

�� /� �� 3������ . I�����* @����� C1�
 �' 69�%�(normal)  �&�
    �������� ����1��� 	�
����� (
H���� C��0 2" L�

 I%�� @�����

 ������* C1�
 �� ���
 ��� 6	�����(potential exposure)  @����� I�
	
����# L���
 C��0 �� K��
 �' I%�� . �� /�"� C1�
 �' 69�%

 ��
��* @�����(acute exposure)   	�
�� Q��
 I%�� @����� 9�% �&�
 ��
1' 	
��! ���" (/5 @������ 2" �������� �� 	���& ) �� >��'�

	�
�' 3�
� ��
 �� �����(   ��!����* C�1�
 �'� 6(chronic exposure) 
(/5 ���� Q����� �� 	�
�' ��
�� Q��
 I%�� @����� 9�% �&�  ���"

 	�
�� 	
��!)�

����� �
������ @��� (8� ����� ���� ����.(  
  
     ��������� 	�
�� 7�* �1�
" @����� 2��
!
.�� 3��.��� ���

 62
�� ������ 	 ��� �� 4���� �� K
�� �� ��� �&�*��
 2��� 	�
<���
(�� 7��  ��� @���
 �� ."    �������=� 	�

�� ��
/5�� @��� ���

$%& F��� 	�
<��� �������� $%& ����
� 2��� 	'���� �� �4!  �
/5��6 
���� 	'���� ��*�� .  I�<�� 2��� 2& �
/5�� (5�� 	1����� 	'���� $%&�

��.�� ��# .  6@������ >
'��� 25
����� C
����� �� ��# ������ �� ��
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     �� 	
�
���� 	���R� C�� �� 4������ @��� �& 62��
!
.�� 3��.���*
.5�� ���  ������# 	'���� 	�) ��
3   ����" �������# �H
� (  ����

����
�� 	 ��� I� �� �H��� 	
��
���� C��0��.   
  

          3��  ���� @���
 2��� �������� 	
�� :�
�� 	�
�� D����
 2
�� ������ ) @����� I� ( �
?� �� 	 ����� 	
*����� 	�
��� :�
' 2&

4����� C��0�� $%& 2" .%�69� *��� ��� >.�� ��" ���*� �& @����� ��
   2�" ����  ������# �� 	
�
��� �������� �� 	 ����� �
?��� 	
�� ��

 3� 
�� ��
� ) I�1  3�3  (4����� �� C� ��   	�
� �� C��0�� ���
��� 	
��
� )   $������ �H�� ���� U3 �.1 ����
 	 �� ��� I�760 

 >*�! ���
���.(  
  

 %���
� ���� &���– '��(��
�   (R) Roentgen   

           � ��
����* C���� ��
�* @����� :��
(Roentgen)   ���
�5�
	
�
��� 	��E� C���� I%�� 3����� V��%�. $%& 3�5����   :��
�� ��
���

(���� 2��� 	
������ 	'���� ����� �� ���
��� 	
���� ��  	
�
��� 	��E�
	�.5���� 	'���� ��% ���  ������# ��.  

  
   �
��� C
��� 3� �'�� � ( R )  6   	�
�� 7��� ��� ��E� (�� 2"

 	
�
��� �������� ) @����� I� ( 	
��*��� 	�
� T���# ��# I�<� 2���
 ) 	* �� �� 	*��� ( 	
�
�������� ��
�� ��
� �&�����(1 esu) 3�� 2"3 

C��0�� ��� C� �� 4����� �� 	
� �� ���	
��
��� I� 6:  

1 R = 1 esu / cm
3
air   (7-5) 

L

� �� C��0�� ��� 4����� 	"�� �#�	
��
�   2�&0.001293 
3 /3�3 6   	��*��� 	
�
����������� ��
��� ���  ���
�*  3�������  C 

	'/���*:  

1 esu = 1 / (3 x 10
9
)
 
 Coulomb  (7-6) 
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� ��
��� C
��� J*1� ��" R  �� ����
��� 3�0�� ��*��  	�
��
�
 	
�����(SI)  �&:  

1 R  =  1x (1 /3x10
9
)   ÷  0.001293 

        =  2.58 x 10 
-7

     Coulomb/gram 

�� I�:  

1 R  = 2.58  X  10
-4

  Coulomb/kg (7-7)
 

     	�
�� T����# ���# I�<�
 I%�� @����� �& � ��
��� �� I�
*�����	
 	*��� �� 	* ��  �&�����2.58  x10

G4  2" 3���� (� �   3� �
C��0�� ��� C� �� 4����� �� 	
� �� ��� 	�
��
� .
�  L�
�  	�
�� �

 ��
E� �� ��������I���� 1.6 x 10G19  3����    �� 2���
 �%�& �A"
	
��
E� 	
�������� T��!E� �� ���� K��
 �
���� � ��
��� n $�����:  

n  =  2.58 x 10
 –4 

/ 1.6 x 10
 –19

 

    =  1.61 x 10
 15 

         electron-ion pairs / kg air 

 3�� ��
� (� 2" 4����� ���� C��0�� 2" C� ���	
��
� .  
  

 2������# T�! T���� 	�!/�� 	'���� �� L

�–   ��
�� 2��
�
 2���
 2& C� �� 4����� 2"34 #.C 2" Q��� 2��� 	'���� 	
�� ���� 6
2& �
�� T�! �
���� 4����� :  

ε = 34 x 1.6 x 10
 –19

  

   = 5.44 x 10
 –18

     Joules 

9�%*6 �� (� ��* 	'���� ����	�����  �������� ��   3� � ���#
 �����* @��� 	 
�� C� �� 4����� �� �
��1  ��
�� 2&:  

 E  =  ε x n  

     =  5.44 x 10
 –18

 x  1.61 x 10
15  

     
 = 0.00876           ( joules/ kg) 

         @�* 2" 	��5��� ���!�� � ��
��� ��
� �� �� 3W��� ����
��

E�6  ��
��� �� ;#   ����E 	�
"�� ��
� ;  >�*��� V���   ����
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 ���  ������#� 	
�
��� ��������	�.5��    2�" ��&���� ��� 	'����
C� �� 4����� $�
W ��� .  

  
 	

�� ��������� ������ 3�  	
�'� �& :
���� C���� ��� ����

	�
<��� �������� �� V�5E�6   2�" 	'���� F�1��� C/�5; ��0��
2" 7�� 3� �� 	 ���   ��� 
# D 
 7�A" 64�����    (��
� 2���� 	�'/���

 @�����)C� �� 4����� @��� I� (E� @��� �� 7�"��
 �� ��# 	 ��
	
��*��.   @���� �� I��*�� 3� �� 2" 	1����� 	'���� �� � � �'�
 $�����1  2& � ��
�0.0096 (� /3 � .%�    	� �
�� ���� 7��A" 69�

=� 	��  �� 7�"��
 �� ��# @����� (
�
������ D 
  	*���� %5<� ��
 )0.0096  :0.00876 (��*�
�� 2".   
  
7 �4   �����
� �������� ����
�  

The radiation absorbed dose 

 ������#� 	
�
��� 	��E� ��� �1�' @����� 3��.� �E ��0�
     	�'�� 	�
�# (����� ����� C� �� 4����� ���� 	'���� 	�.5�� ��� 

���� �� � 3W�� 6��������    ���# 4������ 	����� 	'�� �� (
�
� (
  ��*�� ��
�  	
��
!
" 	
�� 3��5��� 3� ��" 6I��*�� 3� �� 	����� 	'��
    6�����'�� -�
�  ����� �������� Q���� -
�  �� 	'���� (����� ��

�������� $%�� 	������� ������ Q���� -
� �� . ��
� �� 	
���� C����
	1����� 	
������ 	�� �� 3��* .  

  
�   ��� (����� 2��� 	'���� 	
�� �� ���*� 2& 	1����� 	�� ��

��������  	�
<����
���� 3� ��  .�� �%& 3�5��
�� Q���� -
� � J��1
������� 3�� E� -
� �� ��'����� �������� .  (�� 2�" ���5��� ����

��
� ��E� 	1����� 	�� �� :�
��  �����* C���(Radiation absorbed 

dose- rad).  
  
7�4�1   ���
� 
 �����
� &���
�� ���� �����
� ����
 The  rad 
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         7�� ��� ����� C��
 �&����� 	'���� �� 	
�� (����� �� ���*�
100 �#X  (��3��  	1����� ������ ��6  ���
" �������� ���� ��� 6
�� I�:  

 1  rad  =  100  erg /1 gm matter (7-8) 

 L

���     : 1  T�# =10
G7 (� 6 �A":  

1 rad  =  100 x 10
 –7

 / 10
 –3

 

            =   0.01       joule / kg 

  
7�4�2  
�)*��  +� �����
� ����
� &���
�,�-( *�����
�   

The Gray (Gy) 

�� ���
��� 3�0�� ��*�� 	
����� 	
��
�(SI)   ���
� ���5��� ��"
 2& 	1����� 	�� �� :�
�� ��
� W I��(Gray - Gy)   3������ ��# 	*��

 2��
!
.��W  :��
�� 	�
'��� 	
����� >���� � �� �� (�� ��� I%�� I��
	1����� 	�� �� .���H& I���    �&������ 	�1����� 	'���� �� 	�� 

������ �� 3H� (�� (�  �
�� 6�� I�: 1  I��  =1 �� 3H� (�� (� 
 ������  

 1  Gy  =  100 rad   (7-9) 

 
7 �5   � .��!�
����
�� '��(��
� '�  

 :�
' �!� � K
���  3�
 ��

E� 30�� 2" 7�� ��# ������ �� �
� ��
��� ���
�* ���� ��6   @������ :��
' @�H* 9�%� . 9�%��6 

����� ���
�* 	����� ���� �� (���  �� �
���� �� 0
/
 . 9�%��6 
   �/
��
��� 4��� � �
��
��� �
��& �
* <"����� ��'/� 	"��� D 


/�� �� �����* 	1����� 	�� �� 	�
' ��# � ��
���* !�� �� �4��' �� 	�!
��HI��.  

         
 	1��� 	��  Z"��
 � ��
� �
�� $����� ����� �� ����% �'�

 �&�����0.00876 (� /4����� �� 3H�6  Z"��
 ��0.0096 (� /  3�H�
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������ 3�  �� . �& ����� ��� ����0.01 (� /������ �� 3H�6  ��A" 7
�� 0
/
:  

1  /��!� 0��1
� +� '��(��0.876  ��� =0.00876 3*��  

   1  /��!� '��(�� +� '��(��0.96  ��� =0.0096 3*��  

 $����� ����� �� ��
5E� 	'/��� �
*��1  	*����* Z"��
 � ��
�
 ������ 3� �1 �*
��� ��� .���� D 
   �� 2�" %�5<
 �� ��*��
  ��

* ����� ��
 �' � ��
������  ������#� 	
�
��� ������=� 	*����6  ���
�������� Q���� -
�  (��
" �����.  

  
7 �6    +��
���
� �� 4�
�56� '��(�� ,��  

Biological effects on the human body 

�� �
*� ���  2 ���
*�� �
8?������ ������ 3� 6 � K����� :.� �
����� 	1����� 	�� �� �
�� �"/�5� C��5
� �������� Q�� C/�5�* .

 �&����� 	��  �� K����� 2 ���
*�� �
8?��� �� 0
/
 /8�"1  �W I��
)100 ��� ( ���� �����* �*�� 	�
���� �������
��� ���
  ����   ���

E� �� ���.� 	�� �� �� K����� �
8?���	��  	
�
���.%�69�    D� 
 7��A"
2*���� 2 ���
*�� �
8?���* ���
 �� 	"���.  

  
7�6�1   +��(
� +��
���
� �� 4�
�  (RBE)   

          ���� ���  ������# �� 	1����� 	�� �� 	*�� �� ���*� �&
	�
�� 	'��6    ��������� ��� �5S Q�� I� �� 	1����� 	�� �� ��#

����� :.� 2" ��
�� ����� 2 ���
*�� �
8?��� ���
 L

* . (
*� ���"
�  �� K����� �
8?��� ��� �%# 6(�8��� �&����� 	�0.2 W I�� )20 ��� (

   ��� K������ �
8?��� ����� (���
 �� ��� 2" 	�
�*�� �������
��� ��
 �&����� 	�� 1.0 W I��)100 ��� (  	�'���� ��� ���  ������# ��
 ���
 	�
���� ������ �� �
8?��   2*����� 2 ����
*��Relative biological 

effectiveness  ( RBE) &�:   

RBE = 
 
 1/ 0.2  = 5 
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 �� I����
8?� 2 ���
*�� � ���� :�5 V�'� 	�
�*�� �������
��
����� :.� ��� ���  ������# �
8?� ��.  

  
          ����'�� C/�5�* ������=� 2*���� 2 ���
*�� �
8?��� C��5
�

���� K����� 2 ���
*�� C���� 	 ��� Q�� C/�5�*�6   C/�5��* 9�%��
����� �� K
���� Q�� .%�69�  	
������ 	
�'��� @��WE 7�A"���5��� 

 2����� 2"V�5� 	
��  	
����� (���� 3��* �"��(The quality factor 

Q) �� �� ;�*?�8
2*���� 2 ���
*�� � RBE.   ���
� �� 	
���� $%& �# ;#
 3�� %�� L�
� 	
��* ���*���1991  6 3 3��* C�����(���   J �����

)2�!��� �� ( Q���=��4����3      	
���1
��� 	�
��
!
.�� 3
&��.��� -��
	
���E�.  

   
7�6�2    
� ����
�7��� 8���9
 WR  

The radiation weighting factor 

         ������ 	
�'��� 	
����� 	� ��� �1�� 	
(ICRP)    ������� 2�"
 3�� �
��
 2" ����1�� ��
5E�1991 36    (������ J���1� 3��5���*

 J ���� )��2�!���(  Q���=�WR    3�5������ 	�
����� (���� �� ;�*
��*��6    	�
 ���
*�� ���
8?���� ����� 7�?* 	
����� (���� �*��� L



  (�� �� ���
� ��� 2" �������� �8<� ����� 7�� 3� �� ��� 	
*����
K
�� �� ��� .�� (����� ���J ��     ��*��
�� 2�" %�5� ��" Q���=�

(��� 2" 	������� 	1����� 	�� �� K
���� �� ����� .  (���  �
*
�
)7G1 (�� (����� 3
'J ��  Q���=�WR �� @�*  ���'�� ��� �������

	.��5�.  

(�� )7G1(  
 �� 3
'���� (�J ��  Q���=�WR 	.��5��� ��'����� ������=�  

� (����� 	�
'J ��� 
 Q���=�WR 

 Q������'��� �������� 

1  
1  
  


�
��� 	��E� ���  	���� 	 )��'���� -
� (  
����
���� ����������)��'���� -
� (  

�������
���:  
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5  
10  
20  
10  
5  
10  
20 

 G  �� ('� 	'��*10 9.#.C  
 G  �� 	'��*10  ��
100 9.#.C  
 G  �� 	'��*100  ��
2000 9.#.C  
 G  �� 	'��*2  ��
�20 3.#.C  
 G  �� �*�� 	'��* �������
�20 3.#.C  

 �������*��)������� C/5*(�
 	'��* �23.#.C.  
 ������ �
�0�� �.�� ���
� ���V �
�8	 

  
7 �6 �2 :��(
� �# �;�6
 �<��!�
� ����
� HT  

The tissue equivalent dose 

�� (����� 3��5��� -�J ��  Q���=�WR  	
����� (���� �� ;�*
Q 6  	�� �� J��1� 3��5���* 	
������ 	
�'��� 	
����� 	� ��� �1��


���� �� ����� 	�"����� K(The equivalent dose in tissue or organ)  ;�*
 ����=� 	�� �� Z"��� ��(Dose equivalent man) ��*�� 3�5�����.  

            
 	�"����� 	�� �� ��
��HT ����  K
�� ��T   3�� �� 	 ��� ��

	
����� 	'/��� �� I��*��:  

HT =  ∑ WR D TR            (7-10) 
                                 R 

L

: DTR  �������� �� �
���� Q���� �� 	1����� 	�� ��R 
 �
���� ����� �� K
���� 2"T  . K
���� 2" 	�"����� ���� �� -�  3�
�

 	
���� 	�"����� 	�� �� ��� (�1
�� 	.��5��� �������� �� �
����"2 
 K
���� �%&HT .  

  
7�6�4    �<��!�
� ����
� ���� 
����  

         ��� �� �� :���	�"��  3� 2��
�* K
�� �� ��� 2"(rem)   2�"
 3
���� 3�0����� ��
�*  ��.
�(Sievert  Sv) 2" � 3�0���� I��
����2��� .

�� 3�0��� 3��5��� ���"� ���
��� I��
�(SI)    	�1����� 	��� �� :���
��*H�� I(Gy)  ������ 2�" 	�"����� 	�� �� :��� %����� 6  K
����� �� 
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* ��.
� ��
�(Sv).  ��� ��
� 3��5��� ��� ���(rad)  �� 	�
�
����� �
 :�
	1����� 	�� ��6  3� ��
�* 	�"����� 	�� �� :��� %����(rem).  

  
,� &���   Roentgen equivalent man (The rem)  

         �� 	�
���� ��
��� 2&
K
�� 2" 	�"����� 	�� �� :�6  L

 �*�

�� ��� 	�� ��	1�� 
�*��� ��.    3[� ���
�* 	��"����� 	�� �� �����

(rem) �� (����� D�� (1�
 Q�� � 2&J ��   	��� �� 2" Q���=�
 	'/��� ��*� ��� ��
�* 	1�����)7G10(:  

  

���� &���  The Sievert  (Sv)  

          �� 3�0��� 2" 	�"����� 	�� �� :�
' ��
� 2&�  2������ I��
�
���
���6  	�� �� ���� L

  ��
*���� 3�
 ����� ��.
� ��
�* 	�"�����

 	'/��� 2" 	1����� 	�� �� ��)7G10 ( ��
�*W I��(Gy).  
  

 �� �:  
           ������� V�
# 2"����� ����     ��*�5� 2�" �
������� �
�

	
����� ���� �� I���: 0.02 WI�� )2 ��� (  	�
���
 �������
�) I�
 �� ('� 	'��*10 9.#.C( 60.05 WI�� )5 ��� ( 	'��* �������
�14 

3.#. C 6 0.8 W�� I )80  ��� ( ����  ������# .   	��� �� D��
�
 �� (����� �%& 2��� 2" 	�"�����	���� 9��.  

  
 ��
�:  

          	'/��� >
*��*)7G10 ( �� (������ �� 
#� J ���   Q����=�
 (��  �� 	8/8�� Q���R�)7G1(6  ��
�* 	1����� 	�� �� �� �
*�����

W�2�O�� ��.
� ��
�* 	�"����� 	�� �� ��� (1
� I�:  
H  = ∑ WR HTR 

 H  = 5 x 0.02 + 10 x 0.05 + 1 x 0.8 

                 = 0.1 + 0.5 + 0.8 

                 =     1.4        (Sv) 
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          �� �� I� (����� 2��� 2" 	�"����� 	�� =1.4 ��.
�  
          

 �� �
*���� ����    ���� (�1
� ��� ���
�* 	1����� 	�� ��
�
����� 2" 	�"����� 	�� �� 3� ��
�* 2�O��:  

H  =  5 x 2 + 10 x 5 + 1 x 80 

                 = 10 + 50 + 80 

                 =  140        (rem) 

           (����� 2��� 2" 	�"����� 	�� �� �� I� =140 3�.  
 �
* 	'/��� 3��5���*�H��I�� ��� ���) 	'/���7G9 ( J��
�  	�'/��� �
2& 3���� ��.
��� �
*:  

1  
���� =100 ,�  

       2&� 	'/��� >*���� (�8��� ��
��� 2���.  
  
7�6�3   � ����
�7���
 �;�
� �# :��(6
  WT  

The tissue weighting factor 

        ���=� 	
������� ���
8?���* 	*�1�� (���
� ����
 Q ) ��������
 	
8����� ���
8?��� �� (Q���=� @������ K
���� �� ����� Q�� ���. 

 	 ����� 	
������� 	*�1=� @���� 	
��*�� 	 ��E�� 4���E� @�*"
   	��"����� 	��� �� ������ I���� ��� �&�
W �� �8�� Q����� ��. 

� D 
 7�A" ���
8?��� $%�* I��*�� 3� �� 	*�1# (���
� D��
��  ��
�

(���
;� �%& 2" 3� �� 	 ���� 4���� �� ��� (� 3���# V��   ����

4���E� $%& 2" ���� �� I���� .     �!� D� 
 7��A" 9��% (�����
 7
�� >��
 F�5 (����* 	
��*�� 4���E�� 	 ��R� 	�"����� ���� ��

� (����� 3��J ���  �� ����� �� K
������(��� � J ���� K
����   The 

tissue weighting factor WT  .  K
����� 2*���� 3����� (����� �%& (8�
�
 ����� ��)�I J ���� K
���� (���( 3� �� 2��� �� ����� 2"6  ��� 

�
* ���� �� ��
��� 3� �� (��� -
��� �� 	� ���� ���
8?��� .  �����*
�5S6    ����
 Q������* :�� �� (��* I��*�� 3� �� -
��� ��� 7�A"
������� (J �� �� (���
� 2" ����� �%& 3���# 	*�� �& ����� �� K
��
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2������� �
8?���* 	*�1�� . (��  �
*
�)7G2 (�� (������ 3
' 	�
 �� 
I��*�� 3� �� 	.��5��� 	 ��R�.  

  
7�6�3    �
���
� ����
� E  

 The effective dose 

    J���1� 3��5����* 	
������� 	
�'��� 	
����� 	� ��� �1��
���.�� 	�� ��	 E   	��� �� Z"��� �&� 7�*' (������� J��1��� �� ;�*

	���.�� .  3�� �� (��� ��� 	
������� ���
8?���* 	���.�� 	�� �� �*����
4���R� 	�"����� ���� �� �!� ��* I��*��6     2�" �������� ���*�

3� �� (��� ��� 2������� �����6  Q�� � 2& 	���.�� 	�� �� �� I�
��� 	�� �� D�� (1�
   (������ 	��
' 2" ��� �� K
�� (�� 	�"��

��J �� 	
����� 	'/��� ��*� ����� �� K
���� �%��:   
E = ∑ WT HT    (7-11) 

                               T 

L

 :WT �� (����� �&J ��  K
����T 6 HT   2�" 	�"����� 	�� �� 2&
 K
����T ����# -�  3�
� 6�� 	 ��� -
�  4�����  3� ��I��*��.  

  
(�� )7G2(: �� (������ 3
'	
 �� WT I��*�� 3� �� 4���E  

 J ���� (������ 	�
'WT K
���� �� ����� 

0.20  
0.12  
0.12  
0.12  
0.12  
0.05  
0.05  
0.05  
0.05  
0.05  
0.01  
0.01  

	
������� ��H��  
2�0��� Q�5���  

�������  
�
�����  
������  
	��8���  
�*���  

��� ��8��  
���� ��H��	
'  
 ��1��)I�8��(  
�� ��  

3�0��� J��  
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0.05 4���E� 2'�* 

1.00 3� �� (��� 

  

 �
���
� ����
� ���� 
����  

       	���.�� 	�� �� :��� E  	�� �� :�
�� 	��5����� ���
��� :.�*
	�"�����6 �� 3�0��� 2" ��.
��� 2&��   3��0� 2�" 3���� 2����� I��
�

	�
���� ���
���.  
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�� �:  
       ����	
*��� ���*�5��� 2
�" �
� 4����� 	 ��� �6  3��
 2��� 
��
" 	����� ������ (����6  D*�*� 	����� ������ (�5��� D*�* 3�� (/5

	
����� ���� �� ��# 2 ��5�� @����� :150  3� 2��
� )1.5   2���
�
��.
� (�
�����6 500  3� 2��
� )5   ��.
�� 2��
� ( �������6 100 

 3� 2��
� )1 2��
� ��.
� (��� ��8/�6 250  3� 2��
�)2.5   2���
�
 ��.
� (�������6 50  3� 2��
� )0.5  ��.
� 2��
� (	
������� ��H�� .

    ��.
�� 2��
����* 2��.�� �%& ��
�� (1
 2��� 	���.�� 	�� �� D�
�
3� 2��
����.  

  
��
�:  

          	'/��� 3��5���*)7G11 ( 	�"����� 	�� �� �� @
������HT 
R�7��! � �� ��.
� ���
�* 	 ��E�� 4���6 �*   (������� 3
�' �� 
A
��	
 �� WT   (���  �� 4���E�� 	 ��R�)7G2 (   	��� �� �����

2& 7��! � �� ��.
���* 	���.��:  
E = ∑ WT HT 

                           T 

              = 0.12 x150 +0.12 x 5 +0.05 x 1 + 0.12 x 2.5 +0.20 x 0.5  

              = 0.18 + 0.60 +0.05 +0.30 +0.10 

              = 1.23     m Sv 

 2& 7�� 3� �� 	���.�� 	�� �� �� I�1.23 ��.
� 2��
�.  
          

  ��
*���� 3� 2��
� ��
� 3�5��� 3� 2��
���* D������ D��
��
 	�"����� 	�� �� ��HT 2& 	���.�� 	�� �� �����:  

         E= 0.12x150 + 0.12x500 +0.05x100 + 0.12x250 + 0.20x50 

            = 18 + 60 + 5 + 30 + 10 

            = 123 mrem 

        2& 7�� 3� �� 	���.�� 	�� �� �� I�123 3� 2��
�.  
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   D���
 ������� ��� I� 
 2��� 	�� �� 2& 	���.�� 	�� ���
 ���;���
�� 	
������� ���5���.  

 
 � �� ��   ��� ��
*���� 3�5��� V�5� 	
�� 9��& �� ��# �����

   �� I� 6��
�5�� ����1� @����� ��1� ���
 ����� 	���.�� 	�� ��
 J*1�� 6������ 3�  (5�� ��# 	����� ������ (�5��� �� K��
 @�����

7� 	�!/� ������ $%& . 3�� J��1��� �%& ��� >��
�"  �?
���
� ����
�
 ��@A�
� " (The committed effective dose)  .    ���� 	��8�E� ����

  2���� 	����� ������ 9�� 	���.�� 	�� �� 3!/� ��# I�<� 2��� C��0��
   2���� 	������ ���
���� �� 	.��5��� 	
����� 	���E� �� 	�
*�� D����
    @�E� J��� ���� �������� 	
����� ���
 .��� �� 	�
*�� ������

�!/�� ������ ��� ����� �
*1��7� 	.  
  

     	��� �� :��
' ���
� :.�* 	�!/��� 	���.�� 	�� �� :����
  3��0��� 2" 3���* �� 2������ I��
���� 3�0��� 2" ��.
���* I� 6	���.��

3
����. 
  
7�6�4   ������
� �
���
� ����
�  EC  

The collective effective dose   

        Q��� 2��� 	���.�� ���� �� Q�� � �� ���*� 2&  	��� � 2"
���
� 	
��* . -
�  2" Q��� 2��� 	���.�� 	�� �� ����� I���� ����

	�� �� ���� 	��� ��� ���"� 	���.��  	
��� ��EC     ��� ����*� 2�&
   ���.�� 	����.�� 	�� �� ����� D�� (1�
E     ����"E� ���� 2�"

�
�������6 �� I�:  

EC = E x n 

 L

n ���"E� ��� .  	�
��� �� 	�� �� :����  ���" ���
�* .
 ��.
�(Man.Sievert).  

  
7�7   ����
� ����     D

••••  The dose rate 
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�� ���
� �*��H ��.
���� I��)3���� ����� ��(6D
�����* 6  ��
�����   ���
�� (1
 2��� 	���.�� �� 	�"����� 	�� ��� 	1����� 	�� ��

	�
�� 	
��! ��� (/5 �� F5� �� ��� t  .   	��� �� 	��
' �
�����
�� ���
 �� 	"��� D 
 7�A" �
�� ��! (/5 F5��� ��
�# @���
 2�

	�� �� (���* .	�� �� (���� D
•    2��� 	�� �� 	�
' �& �� ���� 2"

��!�� ��
� 2" ������ �� ����� ��
�� (1

6   �%�& 2" $�� � ���
������ 6�� I�:  

 D  = D
•

 x t    (7-13) 

�� �:  
         ���.�� 	�� �� ���� �%#E� 2" ��* \������ 	 ��  2�& Q�*0.4 

��.
� 2��
� ."D�
�  F5�� 7�/5 J��
 I%�� ��!�� ��  �� ����* �
� (5���*�5     �%�& (�5�� 	����.�� 	�� �� (��� ��� �%# Q�*�E� 2"

����*�5  �&100 ��.
����
�/	���.   
  
  

��
�:  

  D  = D
•

 x t     

 :. ��� (�5�� F5��� �� �� 7* \������ ��!�� ��*�5  (/�5 
�& 7�� Q�*�E�:   

 t  =  D / D
•

 

    = 0.4 x 10
 –3

 / 100 x 10
 –6

 

               =     4      hours 

 

7 �8  ������6
 �<���� �6<�#  
  

1G  	'���� >"�� 	"�8�� ���
� �� >"�� 	"�8� �� /� C��6   ����
���
' ���
� 2&�]�  
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2G  @����� C��6 ��
' ���
� 2& ���7]. 

  
3G  ��� ; �%���]	
������ 	
�'��� @��WE 	
"�� @����� 	"��� �* 

  
4G  �� �& ��HI��6] ]�����* �*��
 C
��  
  
5G  ]	�"����� 	�� �� 2��� �%��6 �� �& ����8?
 2*����� 2 ���
*�� �6 

�� (������J �� �� (������ Q���=�J �� ] K
���� 

  
6G  	�� �� (���� 	���.�� 	�� ��� 	�"����� 	�� �� �� (� C�� 

	
��� �� 	���.�� 	�� ���. 

  
7G  ]	���.��� 	�"����� 	�� �� :�
' ���
� 2& �� 

8G    ���1
 2�����
� ��1� �� K����� �������
��� >"�� D�
�3 
x 10 10 �����
� /	
��86    ��"���� ���� 9�%�0.3  36 1  36 
103. 

  
9G   ��*�� ��1�6 ���  ������# -�
6     ���� �� ����� �%A�"

 ��1���^�*� 6000 I��� 6  ����  ������# >"�� 	"�8� D�
�
 	"��� ���30  3�6 5 ��1��� !��� �� �����.  

���.� 	"����� ��� 	'���� >"�� 	"�8� D�
�.  
  
10G  �� 	
����� ���
���* 	
����� 3
��� D�
��	
��
�:   

              50  ������
�6 200  ��� 2��
�6 5  ���6  
              3 ��
��   3�6 0.7   3� 2��
�6 2 3�  

  
11G  ��� �
� 2"���*�5   	�
����� �;����� 	
�'��� �
�" -�� 	
�����

@�����:   
     	'��* �������
�1G2 3.#.C6  .2 �� 2��
��/	���  
    	�
�* �������
� -'��* 50 ����
� ���/	���  
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    ���  ������# -'��* 4 � ��
� 2��
�/ 	���  
D�
� ���* 	�"����� 	�� �� (��� 	 ��� ��� @���� 2��� ��.


�� 2" L���*�5� ����� -*�.  
  
12G  ��� �
� 2"���*�5   ��4���' ���� -���� 3�
����� ����* 	8�����

2������ ���� �� :�
' �!� �:  
 ��
* ���
� 0.5 ��� 2��
�/	���  

 ���  ������#0.16 � ��
����
�/ 	�
'�.  
D�
� ��� 2���� ��.
���* 	�"����� 	�� �� �%& 2" L�� (

����*�5 ����� L/86 * 3�� 2�5�� L��� 7� L�

 3� 7�� @�.
	8����� J��E� �� D���
.  

  
13G   2& 	���� 2" ��* \������ V�1��� 	�� �� ���� �%#20  2��
�

��.
�6  �� ���*� �� �*�5� 2" 	
������ 	
.�5�� �4��' �����
50 ������
�/���  ������� 	���6 5 ������
�/� 	��

	�
�*�� �������
��� 6 L�����* \������ V�1��� ����� 2& ��"
 �
��
 �*�5��� (5�� ���/5 ) 	���� �� �*���250 (�� 3�
.(  

  
14G      ��� 	� ����� 	�������� 	
����� 	���.�� 	�� �� �� ���� �%#

   2�& @�E� ��� 	8�*���� ���  ������� ��*�� 	"�� @���
0.46 ��.
� 2��
� .� �� D�
�   ������ 	�
��� �� 	���.�� 	�

  �%# 2��
*��� @����� �� Q���� �%& �� 	 ����� 	
��E� �����
 3����� ���� ����� �� ����6 	��� ��
�� C;S.  
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������� 	
	��  
Dose limits 

  

  

  

  
  
  
8 
1 ������ �� ����
�� ������� ���
	�� �������  

8 
1 
1    �������� ����
�� ���
	�� ������  
International Commission on Radiological Protection (ICRP)  

 �������	 ���
��
 ��
��
	 ����
	 �����(ICRP)   ����1928� .
���
	 �
� ������
	 ��
��
	 ����
	 ����
	 ��� ���  !�"   #�$� %�� �
�

��
 &���
�' (��� )�
	 �������	 �����
	 %� *�+,
	 ���-
	.  %��
 ��/� ' �+�0
	 ���+��
	 �
� � ���-
	 ���' �+�0
	 ���+��
	 �	�+1


	� �	��
	 %�20�� 3,�� 3�	������4� ����
	 ���+ .  5�����	 �����
��	�,
	 �6�� %7 8
1�+�0
	 �������
	� % �' ���"�
	 ������9
 &���


����
	 ��� ���+�� %� ����7 :;'�� 3��
	 �6�� ����� )�
	� .  
           

�+7 )�
	 ���+��
	 ���  ��<	 3�7 )=��  ���,� ����
	 ��� ���
   %�� 5����+
	 �������	� �����
	 �������	 %� ���
�
	 >��7 8��

����	�
	 .
	 ���-
	 ��� � ��4 ��' ?����
	 �������	 ������
 *�+,
 �
�
	 ��=�  ) 3��� %� 3�<	 ��'
	 �6�	8A1 .(  ���+��
	 ��7 ��� �

)�� �� %������
 &���
	 �	��= %��' ����
	 ���
 ��
�<	:  
  

1A     )��
	 % ���<	 �7 �	�'�0�
	 )= 3��
	 ����� ��2� D7 E��
 8�� ����
	 ���+�
	 �7 �������	 F�-�7 ���
	 )= �����.  

������ �����  

-   �������	 ���
��
 ��
��
	 ����
	
– ����
	 ���+��   ����
��
 ��
��
	

 �������	– &���
	 ���-A  ����7
���	���
 3�����.  
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2A  H�'�<	 )= ���7 ���0 8�� 3��
	 ���7 ��2� D7 E��. 

  
3A  ��� %� �����
	 52���	 3,� D7 E��. 

  
4A    �	��'�0�
	 ��� %� 	���' �	2���	� �IJ�
	 ���7 K�$
 E��

% ��<	 �7 ���"� ������1 %�$�� )�
	. 

  
       ����
	 L���1� �������	 ���+� ��J�
 ������ %�  �I����
	 

�	 �I��/�
	�����
 ����
	 ��� ���
 �
��
	 )=.  ��� )=1950.�  5���M'
�,'��
	 �����+�� )= �6�
	. 
    %�� �����
	 #�� ���+��
	 ��� 8����

��J�
	 	�� %� �����
	 �I ��
	.     )�= ��6�
	 5����M' ����
	 ��,��
 *�+,
	 ���-
	 ��
 )=� �����+��
� &����
������ ������	�  ��� 

�
� 8
1 ���-
	 ��� .������
 8+
<	 �-
	 &�/0� �� �
�  ?�+�
	
 ��'��$��
	 ����,
	 �	���
	 3I0 �-$	� 5��+' . 3��� %�'��)8A1( 

��J� ��/�   *�+,
	 ���-
	)�����	 &����
 .  
  
 3���)8A1(  

 *�+,
	 ���-
		 &���
 %� 5���+
	 %�����
	 %�����
  
��
��
 ��
��
	 ����
	�����+ !��	��� �������	 �  

 !����
����+ 

����
	 3��� 3���� 

1934�  0.2  �7 ���
	 )= %�����1 H�'�<	 )= %�����.  1  

1950�  150  ��/�� )���� ) F715 �� (���
	 )=. 7F  3���� ��3 
��/�� )���� )F70.3 ��( H�'�<	 )=.  

2  

1956�  50 ��/�� )���� )5 ��( ���
	 )=.  3������ F71  )����
H�'�<	 )= ��/��.  

3  

1977�  &���
	 3��� %� � %7 E�� ��� 3
7 �- .3�,��  D N�-'
 ��=� �
	 ����
	 2�����50  ��/�� )����)5�� (���
	 )=.  

4  
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1991�   %������
 �����
	 �
��/
	 ����
	 2����� D7 E��20  )����
 ��/��)2�� (���
	 )=. �
��/
	 ����
	 2����� D7 E��� 

 �����
	 ����
 �����
	1  ��/�� )����)0.1 ��.(  

5  

  
8
1
2   �	� ��� !�"� ������� ������(UNSCEAR)    

    ������
	 ��'� ���"�
	 �������	 �J�0� �
��
	 �����	 %7 ��'
 ��� ����� ���
 >���� 5�-��
	 ��O
 ����
	1955   ���' ����" ����
	

	��;�� 3�- 5�-��
	 ��O
 �����
	����
	 �������	 �A United Nation 

Scientific Committee on Effects of Atomic Radiation   "   %�� ��
��
K�$�<	 3��
	 %� �
�� %���� .  3���
	 ��� K���� %� �'0� ������

    �����
��'
	 �	��;���
	� ��������	 K��2�/
	 �D��� )= %�++0��
	
��
	 )-	��
	 #��� ��	��
 ����� H���9
   ��J'���
	 �����+-�	� ���

      ����	��;��� ����'
	 )�= �����
	 �	���
	 �����	� ���"�
	 ��������'
����
��'
	 .+I0
	 8�� 3�+-
	 8
1 ����
	 Q�����    3��- ������
	

������ ������ ��7 %�� ���	��;��� �������	 .   	����,� �����
	 ��,��
��+�� �� N�-7 R��$� ����
	 ������
 ����� �����    3I�0 %�� R�
1
  ������ �'��  ��+� ��  .��+	���
	 �����
	 N�-'
	 )   )
	��- 3� 5 

�	��� (
	 R��$����+- 5��/
	 3I0 �����
	 .    E��� 
	 	��� ��'����
H�$��
	 3�- )
��
	 *����
	 8�� �����
	 #�	��
	 ��7 %� F���
	 .

�+� )�
	 ���+��
	 )= �������	 ���
��
 ��
��
	 ����
	 ������ 8�� ���
5�-��
	 ��O
 �����
	 ����
	 ���
1 3+��� )�
	 �����
	 S����
	 �+I0.  

  

8 
2  �������� ����
�� ���
	�� �������� �
#   

8 
2 
1 ��� �� ����   The tolerance dose  

             ��������	 ����
��
 ���
��
	 ����
	 ���0��	 ��<	 3�7 )=
 ?IJ+	 ) 3�-�
	 ���� (� ��'���
 % �� F�
	 )�����	 &���
	 %

%����	 R��-�� %7 .  ��'�� ����' >��-�	 )J�� ?IJ+D	 	�� % 
�
  �����' ���$
	 	�� N�-� ���1� )����1 ��$ ���'
 N�-� D ����� .

     ��'��
	 ���� 3�;� ����� D R�M= 5�=	���
	 �����
	 S����
	 8�� K��'�
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 �������	 �	�$O
TK	�� ���	���
	 
	���	� �7  ���;	��
	 . ��
.�
   ��,=
 ��� )= ����
	 �+�71958�' � %� H����D�	�0��	   ����� (�J+�

(�J+� �	�0��	� 3�-�
	 �0U R�� D�'   ?�����
	 8+
<	 �-
�' Q��
R'.  
  
  
8
2
2  ������ $
�%��� &��'� 	���  

The maximum permissible dose (MPD) 

          �����
 ?����
	 8+
<	 �-
	(MPD) � %� 5��'� � �	��,� 
�
��/
	 �������	 ����
	.  �7 ����J ����2 �	��= 3I0 �� 	���
	 K	��

 &��� %� �����
	��- 5��+
 5��/
.     �'��+�	 3����-	 %�� � )�
	
 ���	��� �	�$�')��	� K	��� ��;	�� �7 (�/�/J D���-	 ��
 �����.  �
��

R��- )= 5�=���
	 �������
	 K�$ )= .� &��� ���= %� 5��'  �����
 ?�����
	 8+
<	 �-
	 ���- )= #,� ������1 ����
 V�0�<	  R�' 

 �'�� %� �	����$ �'�� ���	���
	 �	�$<	 %� F�' �'�+� .�
� .  %M=
���W�
 	���-� %� � I;� ���
	 �+,  ����
	 ���
 *�0<	 �	��;��
	 .

�
.�
 
	 *�0<	 �	�$<	� �	��;��
	 Q��� 	 % �� D R�M=  %�� �����
 ?�����
	 8+
<	 �-
	 %� ��2� D )�
	 �������	 �����
	  R�'  D1

��'
	 %� 5��'  ������� 8�� ����+-�	 :�J
�'.  
           
 �
.�
    ������� )�= �������	 ���
��
 ��
��
	 ����
	 ���+7

 ��� 5���+
	 %����
	� �����
	1977 ���' ��+�� ���-I+ (�J+�  
	 *�+,
	 ����
	   ���6�' Q����. �0U ���6� �;�-��	� .��' ?����


�����
	 ���- (dose limits))
��
	 )= R���'� V�0�� % �� .:  
  
7A     �K	�� %� � ��
 �� )�����	 &����
 %��� ��6� �	�
1 ��� %


5���=.  
EA  &���
	 %� � %7 E�� ���  3
78�� �2���1 3,�� �-  �0"� %7

�������D	� ����+�
D	 Q��6
	  )=�
��
	 %�'�-
	 )=. 

LA    �����
	 ��' )+�� )�
	 ���-
	 �
��/
	 ����
	 2����� D7 E��
�����+�� �0U )= ����� ����+� )�
	. 
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8 
3   �������� ����
�� ���
	�� ������ ����
 :   

8
3 
1   ������ !�� 26  !���1977 !  

  %�� �����
	 �	��;��
	 ���,� �� %����
	� �����
	 ������ )=
	��� %������ %���� 8
1 ���"�
	 �������:  
  
7A   ���	���
	 �	��;��
	(stochastic effects) :  )��
	 �	��;��
	 )��

 R���� 8�� �7 &����
	 8�� #,� �
 )���/-7 �7 �K��'7 (  D ��
�
 %7 D1 .5��'  �7 5��W+ ����� %� N�-� %7 % �� )�
	� .#,�

 ����J E����� ��;��- 3���-	 )��� ��  (  .�����
	 �	�,� #�
����
	 �	�,� 3� &��
	 5�- ����� D�.  

   
EA   ����-
	 �	��;��
	:(deterministic effects)  )�
	 �	��;��
	 )��

 �'�� 8�� &���
	 ���� ��	2 	�1 D1 N�-� D ) �- (  �����
 �'�+�	 5�- ��2�� .�'��
	 ��� 2���� ��� �� ��
�' �'�+�	 #,��

����
	 5���2'.   
  

        �����
	 ���+��
 �,'J  �
� 5���
�' 5���+
	26   ����
1977 
8���� �������	 ���
�
	 Q	��7 ��7 ���= )�� ��:  

  
7A     �����
	 �'�� ���
 ���-�' �
�� ����-
	 �	��;��
	 N��- #��

&	��<	 ��� %� &�� 3 
.  &/0� ���- ����� &���
	
 %� �
�'��
	 ��� %�� ��; '.  

  
EA  	 &/0 &���
	 3��� &/0' ���	���
	 �	��;��
	 N��- 3���-

 )= &	��<	 ���' �'�+�	 3���-	 8,'� 8�- 3�,�� �- 3
7 8
1
    )�= ��������D	� �����+�
D	 3�	��
	 �07 #� �
�',� ���-

%�'�-
	.   7��'� ���' Q�� 	���� 7�'� ����
	 ��'� ����"	�D7 "
� ��2����1 ����  >�0
 8
�<	 Q�-<	 )�� ) "As Low As 

Reasonably Achievable” �2���1 3,�� �� 3
7 ��'��
�' )����.  
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��)* *	+�  :ALARA   Principle  

   �
� 5���
	 3'
26  ���
1977  ��� 3
7 �� :'J�
	 7�'�
	 %�  �
 % ��As low as possible" ."  ��
 �������	 ���
��
 ��
��
	 ����
	 %7 D1

�-� 3-� 7�'�
	 	�� �$=�����
	 7�'�
	 R .   %� �� R��7 Q����
	 %�=
 ��6��' Q�
� �' % 
� .52���� ����
� E�	�� )�'� .    ���� ���'� 3��=

#=���
	� ��	�/
	 Q�
� �
	 .   )�= ���,/�
	 ��� :�/�1 *��<	 %� %� � �,=
 %�����
	 8�� >�
� .3   #����
	 8�� �' 7 ��/��' ���� *�07 E�	��

���-� H�����' .��= �2�' ����  5����$� ���
�
	 �	K	��1 ���'� �/
 .���'�
	 7�'� 2�' )
��
�'� .#=���
	 %�'� ��
���
	 �	�$<	 %�' ��2	��
	
 #� .3   #�����
 ��	�$7 8�� )��
� K	��1 F7 #=��� E�W�� %7 ������

 %�'��-
	 )= �������D	� ����+�
D	 3�	��
	 �07 .    2��' ���� %���
 �2���1 3,�� �� 3
7 (�J+�(ALARA)  .  

  

8
3
2    !�� ������60  ��%�1990  

K�$ )=   ������
	 ����
	 %� 3  ���
1 ��+�� )�
	 �	�����
	
 5�-��
	 ��O
(UNSCEAR).    �������9
 �����
��'
	 �	��;��
	 ���
�

 ���"�
	(BEIR) ������
	 ���J�
	 %���
	 %� ���� ..  %��'�   3���� %7
���J��
	 &	��<�' �'�+��' V�0
	 �J�0�
	� ��;	��
	�   ���; ' 8��7

 )
	�- ��� �,'�� ��0���
	 3����
	 %�0.013 ��= 3 
.   )�= ��/���
%�����
 J����
	.  ��' 3����
	 	�� �/��0�
	 %���
	 ��� #��� ���- �
�

 )
	�- %�' ?�	���0.045  )
	�-�0.090  )
	�- X�'� �J���� ���,'�
0.060  .'� .����J��
	 �J�0�
	 ��- %7 )��� ���� Q��$7 ���0 X�

�
� 3'
 �,��� %�  �� . .�
�
 �
� ������ )= ��
��
	 ����
	 �+ �760 
 3
7 ���-' TK	��)���
	 &����
 7� �����
	 ���� &���
.  
           

����
 �'��
�'=�F���
	 �-
	 &/0 ��������' ����� %�   %��50 
 8
120  ��/�� )����)2 ��(
 %�  ��� Q+�� %���� #
	�' F7 .R�'. 

F��'
	 ���
	 K�$�7 &�'
 ��=� �
	 ������
 ���- ���-� ��� .  ��� 
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K����
 �$/0�� ���- #$� ��  %�� 3�	�-
	   %�'������
� �I����
	 
�'�J
	�.  %� F���
	 �-
	 &/0 ��'
	 ����
 �'��
�'�5  8
11   )����

Q��$7 ���0 #
	�' F7 ��/��.  
  
8
3
3  ��,�-���
 ������� ������� 	
	� ����� �������� ���  

The occupational effective and equivalent dose limits 

        
0/&  �������	 �D���
	 )= %�����
	 %�' ���	���
	 �	��;��
	
 �
� ������ )= �������	 ���
��
 ��
��
	 ����
	 �+�726  ���
1977 �

�' %  ������ H���9
 %�$�����
 �
��/
	 ����
	 �- ��2� D� 8�� 50 
 ��/�� )����)5�� (  &����
	 �
���� #��� %� ���
	 )=   ����0	�
	

�����0
	�.   
  

�
� .    &�'�
 ���=� �
	 ������
 ����� ���-' ����
	 �+�7
F��'
	 ���
	 K	2�7.      %�� ����
��
 %�,'���
	 %�=���
	 :,-�� N�-'

H����	.   5�����
 �,=� H�����' %�����
	 %�����
	 8�� �,'J�
	 ���-
	�
60  ���
1990 )�:  
  
7A   F���
	 &���
	 �- )�
��/
	 ����
	 ( %�����
	 %������


 ��20 ��/�� )���� . %� ��� )= �-
	 	�� #=� 2����
 8�- %���
	50  2����� D %7 J��' .��/�� )����

 �'
���� �	��� >�0 F7 3I0 ��� 	��
	 �
��/
	 ����
	
100 ��/�� )����.  

EA  J 3��-�
 &���
	 �- 3�-
	 5��= 3	�1  %�  	�1 ��/�� )����
 .���0	� &���
	2 �����0 &���
	 %�  	�1 ��/�� )���� .  

LA    �������7 ?�	��� %��
	 �'�J
	� %�'�����
 F���
	 &���
	 �-
 %�'16 .18  �� ���6     	��� %�� � %7 J���' ��/�� )���

K2� E����
	Y	 ����	�� �7 ������ %�.  
�A   �7 3,� %� &��� �6-� %� �����16 ���.  
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��   �� %�����
	 %������
 %��
	 ����
 ��=� �
	 �����
 F���
	 �-
	
150  Q	�JO
� ��/�� )���� )%���,
	� %���
	 F7 ( ��500 

��/�� )����  

��     ��� %�'������
 %��
	 ����
 ��=� �
	 �����
 F���
	 �-
	50 
 Q	�JO
� ��/�� )���� )%���,
	� %���
	 F7 ( ��150  )����

��/��  

  

  

8
3
4   ����� �-��* .���   

        Q�+� ����
	  �������	 ���
��
 ��
��
	    ��,'J 3���
	 % ���7
%���� 8
1 �������	 Q��6�
:  

  
* ����� �-��*     A Working condition 

          &���
	 ���= 2����� %7 % �� )�
	 % ��<	 ��� )��)3/10( 
 �
��/
	 ����
	 ���-
	�,'J� .  :�'J�
	 )���
	 &���
	 �- %7 N�-�

 �� ��
�-20    3���� 2������ %7 % �� )�
	 % ��<	 %M= .��/�� )���
 ���= F���
	 &���
	6  7 ���/
	 :J���
 )���� %7 E�� ��/�� )��� .


 % ��<	 ��� 3;� )= %�����
	 #$0� %7 E���
 3�� �� S����' ���
��
�������	. TK	�� &����
 �'��
�' )�0	�
	 N���
	 �7 )���0
	 . �
�� . 
 %7 E��� #$0% ��<	 ��� )= %�����
	 �����
	 ��'J
	 V�-/�
.  �� 

3'
 ��
 ��'J V�-= K	��1 E�� 3'
� .% ��<	 ��� )= 3��
�' Q�� �
	 
��-	�� ������ F7 K	��1 ���� F<.  

  
/ ����� �-��*     B Working condition 

         % ��<	 ��� )� D )�
	 %7 % ��&���
	 ���= 2����� 
)�����	 )3/10( ����
	 ���- �7 �
��/
	 ��=� �
	 .������.  D R�M=

 )= %�����
	 #$0���� ������
	 3'
 �� V�-/
 % ��<	 . E�� % 
�
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 %7 %�� �'�
�
	 ��� ��I� %� � ���
 �������	 �'�
��
 ����$01
�'�
	 ���-
	 2����� D I�= &���
	��.  

   
8
3
5    �
����� !
��� ������ 	
	�  

dose limits for member of public 

          ��������	 ���
��
 ��
��
	 ����
	 �+�7 �����
	 ����
 �'��
�'
 �
� ������ )=60  ��� 5���+
	1991������
 ��
��
	 ���-
�' �:  

         E�� �����
	 ���� %�' ���	���
	 �	��;��
	 &/0
 D7�2���� 
��
��
	 ���-
	 �����
	:  

  
7A   �
��/
	 ����
	 �-1  ���
	 &��� ��� ���
	 )= ��/�� )����

�6��� )����1 3���
 R�� �' .  *��-1 )= �-
	 	�� 5���2 2����
 8
1 �	���
	2     �����
	 2������ D %7 J���' ��/�� )����

   ��'
���� �	���� >�0 F7 3I0 �� 	���
	 �
��/
	5   )�����
����/.  

EA    ��� ��'
	 ����
 %��
	 ����
 ��=� �
	 �����
 F���
	 �-
	15 
 �� �	�
<	� F��O
� ��/�� )����50 ��/�� .  

  
 �	�0���	 % �� K�$�<	 )
�'
 �'��
�'�   ��
I�
	)7A11 (  #��
 3��� )= ���'�
	 ���2�
	 �I����
	 �	�0��	)7A2 ( ����� �- ����
	

��� ���  	�1 �$��
 ��=� �
	    	���
 )���-
	 ��;��
	 2����� D ����
	
�$�
	.  

   
8
4  ���0 .
�1 2, 3�� ��  

8
4
1  ���0 .
�1 2, ##0��� 3�� ��  
The planned special exposure 

           3�W���
	 Q���6 E�J�� 5����
	� �+�0
	 �D�-
	 &�' )=
    �������1 Q���6 )�= %�����
	 %� 3��
 ��� ��	�� 5���$ 3��
	�

�����. 
 %�$���� ���
I0 � ��2� ������1 ����
8�    )��
	 ����-
	
����
	 ��' �+�7 . ����' ����� ���� �=��� D )�
	 �D�-
	 ��� 3;� )=
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     %������
	 %�� %� �� ���� 3
< (��� R�M= %�����
	 KD"� &���

 *���� D ����
 &���
�'50    5���
	 )�= 3   ����
 ��/�� )����

5�-	�
	. 0 8�� ��2� D� �����
	 ����
	 Q��$7 ��� ) F7100  )����
 ��/�� (R�  ���
	 3	�J . %� 3�- F�' (��� D �D�-
	 ��� 3;� )=�

  �����
	 Q��$7 ���0
 &���
	 R
 :'� �
 %� � 3��� F< 3	�-<	
&���
	 	�� )= ����� %�' �����
	. �
� .     %�� )�= �	����
	 #���

&���
	 	�� )= �	���D	 %� E����	 .  
  
 8
4
2 �������� 4��
#�� .
�1 2, 3�� ��  

Exposure in emergencies and accidents 

          ����� ���- ���� D �������	 N�	�-
	� [�	�J
	 �D�- )=
�������	 ������
  8���7 �����
 &���
�' ?���
	 2���� .

  �	��+1 % �� D R�7 �������	 ���
��
 ��
��
	 ����
	 ��
7 �
�
��   )�= )������	 *����
	 �7 �����
	 ���-' �+�0 ���+

�������	 N�	�-
	� [�	�J
	 �D�-. �����'J QI�0D 	�6�.   
  
   �$���
	 &/0
�� ����
	�  %���
	 N��-
	 %�)  �'���
�' K	��

�����
	 ����
 �7 %������
 ( R�M=�	2�
D	 E�� '   [�	��J ��J0 ����
 ����+/�E����� ����
	�)�� %  ��/�� %� ��� ���	�� 8��� JJ0
	 ���

�����
	 [�	�J
	.  
          

 E�� [��J
	 �J0 #$� �����	2�
D	 '��
��
	 �����
	 ���'
�:  
  

7A   I� ��
��-�� �� �� ���
 3
7 8
1 &���
	 &/0 �
��-� �= )
���
	 ���- %� 8��<	 �����
	�� �
��/
	 ��=� �
	 �7.  

EA  ��	 H���' Q
��
	 8�� 5�J��
	 5���% �� ��. 

LA      ����J�� N���-
	 E�'���' �+�0
	 �������
	 8�� 3�+-
	
�
�
 ��'� Q�+�
	�. 

            
  8�
1 %���J��
	 &�' &���� %7 % �� [�	�J
	 �D�- )=�
   �	��$7 N���- #�� �7 ����'
	 ?	��<	 ��,�1 &�W' ��
�� �����
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N��-
	 ��J� Q
� �7 ����� .     ������ ����- #�$� ���� E�+��
������
 �0U 8
1 N��- %� Q��6
	 Q��0� N�- . 3��-�
	 %� R� 
�

 �
��/
	 �����
	 ���- :�/� ����� 8�� %���J��
	 &�' 3+-� %7
�JJ0�
	.   ���'
	 &��' 5��- ��,�M' :���� ��<	 %�  	�1 �+�+0� .

 �+�0
	 3���<�' ���,
	 E�+
	 %� %� � �
 ��,��	 ������ K	��1 ����
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